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ÃÖÖ´ÖÖ®µÖ ×®Ö¤ìü¿Ö ::::    
    (i) µÖÆü ¯ÖÏ¿®Ö-¯Ö¡Ö ŸÖß®Ö ³ÖÖÝÖÖë ´Öë ×¾Ö³ÖŒŸÖ Æîü – Ûú, ÜÖ †Öî̧ ü ÝÖ … 
 (ii) ³ÖÖÝÖ Ûú ÃÖ³Öß ”ûÖ¡ÖÖë Ûêú ×»Ö‹ †×®Ö¾ÖÖµÖÔ Æîü … 
 (iii) ¯Ö¸üßõÖÖÙ£ÖµÖÖë ÛúÖê ¿ÖêÂÖ ³ÖÖÝÖ ÜÖ (×¾Ö¢ÖßµÖ ×¾Ö¾Ö¸üÞÖÖë ÛúÖ ×¾Ö¿»ÖêÂÖÞÖ) †Öî̧ ü ÝÖ (†×³ÖÛú×»Ö¡Ö »ÖêÜÖÖÓÛú®Ö) ´Öë ÃÖê ÛúÖê‡Ô ‹Ûú 

³ÖÖÝÖ Æü»Ö Ûú¸ü®ÖÖ Æîü … 
 (iv) ‹Ûú ¯ÖÏ¿®Ö Ûêú ÃÖ³Öß ³ÖÖÝÖÖë Ûêú ˆ¢Ö¸ü ‹Ûú Æüß Ã£ÖÖ®Ö ¯Ö¸ü ×»Ö×ÜÖ‹ … 

General Instructions : 

 (i) This question paper contains three parts A, B and C. 

 (ii) Part A is compulsory for all. 

 (iii) There are two parts. Part B – Financial Statement Analysis and Part C – 

Computerized Accounting. Attempt only one Part. 

 (iv) All parts of a question should be attempted at one place. 

 Series : SSO/1 67/1/3

• Ûéú¯ÖµÖÖ •ÖÖÑ“Ö Ûú¸ü »Öë ×Ûú ‡ÃÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ´Öë ´Öã×¦üŸÖ ¯ÖéÂšü 23 Æïü … 
• ¯ÖÏ¿®Ö-¯Ö¡Ö ´Öë ¤üÖ×Æü®Öê ÆüÖ£Ö Ûúß †Öȩ̂ ü ×¤ü‹ ÝÖ‹ ÛúÖê›ü ®Ö´²Ö¸ü ÛúÖê ”ûÖ¡Ö ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ Ûêú ´ÖãÜÖ-¯ÖéÂšü ¯Ö¸ü ×»ÖÜÖë …  
• Ûéú¯ÖµÖÖ •ÖÖÑ“Ö Ûú¸ü »Öë ×Ûú ‡ÃÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ´Öë 23 ¯ÖÏ¿®Ö Æïü …  
• Ûéú¯ÖµÖÖ ¯ÖÏ¿®Ö ÛúÖ ˆ¢Ö¸ü ×»ÖÜÖ®ÖÖ ¿Öãºþ Ûú¸ü®Öê ÃÖê ¯ÖÆü»Öê, ¯ÖÏ¿®Ö ÛúÖ ÛÎú´ÖÖÓÛú †¾Ö¿µÖ ×»ÖÜÖë …  
• ‡ÃÖ ¯ÖÏ¿®Ö-¯Ö¡Ö ÛúÖê ¯ÖœÌü®Öê Ûêú ×»Ö‹ 15 ×´Ö®Ö™ü ÛúÖ ÃÖ´ÖµÖ ×¤üµÖÖ ÝÖµÖÖ Æîü … ¯ÖÏ¿®Ö-¯Ö¡Ö ÛúÖ ×¾ÖŸÖ¸üÞÖ ¯Öæ¾ÖÖÔÆËü®Ö ´Öë 10.15 ²Ö•Öê 

×ÛúµÖÖ •ÖÖµÖêÝÖÖ … 10.15 ²Ö•Öê ÃÖê 10.30 ²Ö•Öê ŸÖÛú ”ûÖ¡Ö Ûêú¾Ö»Ö ¯ÖÏ¿®Ö-¯Ö¡Ö ÛúÖê ¯ÖœÌëüÝÖê †Öî̧ ü ‡ÃÖ †¾Ö×¬Ö Ûêú ¤üÖî̧ üÖ®Ö ¾Öê 
ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ ¯Ö¸ü ÛúÖê‡Ô ˆ¢Ö¸ü ®ÖÆüà ×»ÖÜÖëÝÖê …  

• Please check that this question paper contains 23 printed pages. 

• Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

• Please check that this question paper contains 23 questions. 

• Please write down the Serial Number of the question before attempting it. 

• 15 minutes time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 

question paper only and will not write any answer on the answer-book during this period. 

ÛúÖê›ü ®ÖÓ. 
Code No.  

���� 
¯Ö¸üßõÖÖ£Öá ÛúÖê›ü ÛúÖê ˆ¢Ö¸ü-¯Öã×ÃŸÖÛúÖ Ûêú ´ÖãÜÖ-¯ÖéÂšü 
¯Ö¸ü †¾Ö¿µÖ ×»ÖÜÖë … 
Candidates must write the Code on 

the title page of the answer-book. 
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³ÖÖÝÖ – Ûú 

PART – A 
 

(ÃÖÖ—Öê¤üÖ¸üß ±ú´ÖÖí ŸÖ£ÖÖ Ûú´¯Ö×®ÖµÖÖë Ûêú ×»Ö‹ »ÖêÜÖÖÓÛú®Ö) 

(Accounting for Partnership Firms and Companies) 

 

1. ‘Æü¸üß, ¸üÖ´Ö ŸÖ£ÖÖ ¿Ö´ÖÖÔ’ Ûúß ±ú´ÖÔ ÃÖê Æü¸üß Ûêú †¾ÖÛúÖ¿Ö ÝÖÏÆüÞÖ Ûú¸üŸÖê ÃÖ´ÖµÖ ×Ã£Ö×ŸÖ-×¾Ö¾Ö¸üÞÖ »ÖÖ³Ö-ÆüÖ×®Ö ÜÖÖŸÖê Ûêú ®ÖÖ´Ö ´Öë 

` 12,000 ÛúÖ ¿ÖêÂÖ ¤ü¿ÖÖÔ ¸üÆüÖ £ÖÖ … Æü¸üß ÛúÖê ¤êüµÖ ¸üÖ×¿Ö Ûúß ÝÖÞÖ®ÖÖ Ûú¸ü®Öê Ûêú ×»Ö‹ µÖÆü ¸üÖ×¿Ö Ã£ÖÖ®ÖÖ®ŸÖ×¸üŸÖ Ûúß 

•ÖÖµÖêÝÖß  

 (Ûú) Æü¸üß, ¸üÖ´Ö ŸÖ£ÖÖ ¿Ö´ÖÖÔ Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖÖë Ûêú •Ö´ÖÖ ´Öë ²Ö¸üÖ²Ö¸ü-²Ö¸üÖ²Ö¸ü  

 (ÜÖ) Æü¸üß, ¸üÖ´Ö ŸÖ£ÖÖ ¿Ö´ÖÖÔ Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖÖë Ûêú ®ÖÖ´Ö ´Öë ²Ö¸üÖ²Ö¸ü-²Ö¸üÖ²Ö¸ü   

 (ÝÖ) ¸üÖ´Ö ŸÖ£ÖÖ ¿Ö´ÖÖÔ Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖÖë Ûêú ®ÖÖ´Ö ´Öë ²Ö¸üÖ²Ö¸ü-²Ö¸üÖ²Ö¸ü   

 (‘Ö) ¸üÖ´Ö ŸÖ£ÖÖ ¿Ö´ÖÖÔ Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖÖë Ûêú •Ö´ÖÖ ´Öë ²Ö¸üÖ²Ö¸ü-²Ö¸üÖ²Ö¸ü  1 

 On the retirement of Hari from the firm of ‘Hari, Ram and Sharma’ the balance-sheet 

showed a debit balance of ` 12,000 in the profit and loss account. For calculating the 

amount payable to Hari this balance will be transferred 

 (a) to the credit of the capital accounts of Hari, Ram and Sharma equally 

 (b) to the debit of the capital accounts of Hari, Ram and Sharma equally 

 (c) to the debit of the capital accounts of Ram and Sharma equally 

 (d) to the credit of the capital accounts of Ram and Sharma equally  

 

2. Ûãú´ÖÖ¸ü, ¾Ö´ÖÖÔ ŸÖ£ÖÖ ®Ö¸êü¿Ö ‹Ûú ±ú´ÖÔ Ûêú ÃÖÖ—Öê¤üÖ¸ü £Öê ŸÖ£ÖÖ 3 : 2 : 2 Ûêú †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö-ÆüÖ×®Ö ²ÖÖÑ™üŸÖê £Öê …              

23 •Ö®Ö¾Ö¸üß, 2015 ÛúÖê ¾Ö´ÖÖÔ ÛúÖ ¤êüÆüÖ®ŸÖ ÆüÖê ÝÖµÖÖ … ˆÃÖÛúß ´ÖéŸµÖã Ûúß ×ŸÖ×£Ö ŸÖÛú Ûêú »ÖÖ³Ö ´Öë ¾Ö´ÖÖÔ Ûêú ³ÖÖÝÖ Ûúß 

ÝÖÞÖ®ÖÖ ` 2,350 Ûúß ÝÖ‡Ô …  

 ±ú´ÖÔ Ûúß ¯ÖãÃŸÖÛúÖë ´Öë ‡ÃÖÛêú ×»Ö‹ †Ö¾Ö¿µÖÛú ¸üÖê•ÖÌ®ÖÖ´Ö“ÖÖ ¯ÖÏ×¾Ö×Â™ü Ûúß×•Ö‹ …  1 

 Kumar, Verma and Naresh were partners in a firm sharing profit & loss in the ratio of 

3 : 2 : 2. On 23
rd

 January, 2015 Verma died. Verma’s share of profit till the date of his 

death was calculated at ` 2,350.  

 Pass necessary journal entry for the same in the books of the firm. 

 

3. †Ó¿ÖÖë Ûêú Æü¸üÞÖ ÛúÖ †£ÖÔ ¤üß×•Ö‹ …  1 

 Give the meaning of forfeiture of shares. 
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4. •ÖÖòµÖ ×»Ö×´Ö™êü›ü ®Öê ` 10 ¯ÖÏŸµÖêÛú Ûêú 1,00,000 ÃÖ´ÖŸÖÖ †Ó¿ÖÖë Ûêú ×»Ö‹ †Ö¾Öê¤ü®Ö †Ö´ÖÓ×¡ÖŸÖ ×ÛúµÖê … ¸üÖ×¿Ö ×®Ö´®Ö ¯ÖÏÛúÖ¸ü 
ÃÖê ¤êüµÖ £Öß : 

 †Ö¾Öê¤ü®Ö ¯Ö¸ü – ` 3 ¯ÖÏ×ŸÖ †Ó¿Ö 

 †Ö²ÖÓ™ü®Ö ¯Ö¸ü – ` 4 ¯ÖÏ×ŸÖ †Ó¿Ö 

 ¯ÖÏ£Ö´Ö ŸÖ£ÖÖ †×®ŸÖ´Ö µÖÖ“Ö®ÖÖ ¯Ö¸ü – ¿ÖêÂÖ  

 95,000 †Ó¿ÖÖë Ûêú ×»Ö‹ †Ö¾Öê¤ü®Ö ¯ÖÏÖ¯ŸÖ Æãü‹ ŸÖ£ÖÖ ÃÖ³Öß †Ö¾Öê¤üÛúÖë ÛúÖê †Ó¿ÖÖë ÛúÖ †Ö²ÖÓ™ü®Ö Ûú¸ü ×¤üµÖÖ ÝÖµÖÖ … ÃÖÖê®Ö´Ö 
®Öê, ×•ÖÃÖê 500 †Ó¿ÖÖë ÛúÖ †Ö²ÖÓ™ü®Ö ×ÛúµÖÖ ÝÖµÖÖ £ÖÖ, †Ö²ÖÓ™ü®Ö ¸üÖ×¿Ö ÛúÖ ³ÖãÝÖŸÖÖ®Ö ®ÖÆüà ×ÛúµÖÖ … ÝÖÖîŸÖ´Ö ®Öê ˆÃÖÛúÖê 
†Ö²ÖÓ×™üŸÖ ×ÛúµÖê ÝÖµÖê 750 †Ó¿ÖÖë ¯Ö¸ü ¯ÖæÞÖÔ ¤êüµÖ ¸üÖ×¿Ö ÛúÖ ³ÖãÝÖŸÖÖ®Ö †Ö²ÖÓ™ü®Ö ¸üÖ×¿Ö Ûêú ÃÖÖ£Ö Ûú¸ü ×¤üµÖÖ ×•ÖÃÖ´Öë ¯ÖÏ£Ö´Ö ‹¾ÖÓ 
†Ó×ŸÖ´Ö µÖÖ“Ö®ÖÖ ¸üÖ×¿Ö ³Öß ÃÖ×´´Ö×»ÖŸÖ Æîü … †Ö²ÖÓ™ü®Ö ¯Ö¸ü ¯ÖÏÖ¯ŸÖ ¸üÖ×¿Ö £Öß : 1 

 (Ûú) ` 3,80,000 

 (ÜÖ) ` 3,78,000 

 (ÝÖ) ` 3,80,250 

 (‘Ö) ` 4,00,250 

 Joy Ltd. issued 1,00,000 equity shares of ` 10 each. The amount was payable as 

follows : 

 On application – ` 3 per share. 

 On allotment – ` 4 per share. 

 On 1
st
 and final call – balance  

 Applications for 95,000 shares were received and shares were allotted to all the 

applicants. Sonam to whom 500 shares were allotted failed to pay allotment money 

and Gautam paid his entire amount due including the amount due on first and final call 

on the 750 shares allotted to him along with allotment. The amount received on 

allotment was  

 (a) ` 3,80,000 

 (b) ` 3,78,000 

 (c) ` 3,80,250 

 (d) ` 4,00,250 

 

5. ÃÖÖ—Öê¤üÖ¸üß ÃÖÓ»ÖêÜÖ Ûêú †³ÖÖ¾Ö ´Öë ±ú´ÖÔ ÛúÖ »ÖÖ³Ö ÃÖÖ—Öê¤üÖ¸üÖë Ûêú ´Ö¬µÖ ²ÖÖÑ™üÖ •ÖÖŸÖÖ Æîü : 

 (Ûú) ¯ÖæÑ•Öß †®Öã̄ ÖÖŸÖ ´Öë 

 (ÜÖ) ²Ö¸üÖ²Ö¸ü  

 (ÝÖ) ±ú´ÖÔ Ûêú ¾µÖ¾ÖÃÖÖµÖ Ûêú ×»Ö‹ »ÖÝÖÖµÖê ÝÖµÖê ÃÖ´ÖµÖ Ûêú †®Öã̄ ÖÖŸÖ ´Öë  

 (‘Ö) ÃÖÖ—Öê¤üÖ¸üÖë Ûúß ¯ÖÏ²ÖÓ¬Ö®Ö µÖÖêÝµÖŸÖÖ Ûêú †®ÖãÃÖÖ¸ü  1 

 In the absence of partnership deed the profits of a firm are divided among the partners :  

 (a) In the ratio of capital 

 (b) Equally 

 (c) In the ratio of time devoted for the firm’s business  

 (d) According to the managerial abilities of the partners 
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6. Ûú, ÜÖ, ÝÖ ŸÖ£ÖÖ ‘Ö ‹Ûú ±ú´ÖÔ Ûêú ÃÖÖ—Öê¤üÖ¸ü £Öê ŸÖ£ÖÖ 4 : 3 : 2 : 1 Ûêú †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö ²ÖÖÑ™üŸÖê £Öê … 1-1-2015 ÛúÖê 

ˆ®ÆüÖë®Öê »ÖÖ³Ö Ûêú 
1

10
 ³ÖÖÝÖ Ûêú ×»Ö‹ ‘›ü’ ÛúÖê ‹Ûú ®ÖµÖÖ ÃÖÖ—Öê¤üÖ¸ü ²Ö®ÖÖµÖÖ … ‘›ü’ †¯Ö®Öê ÜµÖÖ×ŸÖ ¯ÖÏß×´ÖµÖ´Ö Ûêú ×»Ö‹         

` 10,000 ®ÖÝÖ¤ü »ÖÖµÖÖ ×•ÖÃÖÛúÖ »ÖêÜÖÖ, »ÖêÜÖÖÛúÖ¸ü ®Öê, ¯ÖãÃŸÖÛúÖë ´Öë ÃÖÆüß Ûú¸ü ×¤üµÖÖ … ˆÃÖÛêú ¯Ö¿“ÖÖŸÖË »ÖêÜÖÖ¯ÖÖ»Ö ®Öê 

¯ÖãÃŸÖÛúÖë ´Öë ÜµÖÖ×ŸÖ ÛúÖê ` 1,00,000 ´Öë ¤ü¿ÖÖÔµÖÖ … ŒµÖÖ »ÖêÜÖÖ¯ÖÖ»Ö ®Öê µÖÆü ÃÖÆüß ×ÛúµÖÖ ? †¯Ö®Öê ˆ¢Ö¸ü Ûêú ÃÖ´Ö£ÖÔ®Ö ´Öë 

ÛúÖ¸üÞÖ ¤üß×•Ö‹ …   1 

 A, B, C and D were partners in a firm sharing profits in the ratio of 4 : 3 : 2 : 1. On          

1-1-2015 they admitted E as a new partner for 
1

10
 share in the profits. E brought              

` 10,000 for his share of goodwill premium which was correctly recorded in the books 

by the accountant. The accountant showed goodwill at ` 1,00,000 in the books. Was 

the accountant correct in doing so ? Give reason in support of your answer. 

 

7. ¯ÖÏ×ŸÖ³Öæ×ŸÖ ¯ÖÏß×´ÖµÖ´Ö ÛúÖ ˆ¯ÖµÖÖêÝÖ (i) ‘¯ÖæÞÖÔ ¯ÖÏ¤ü¢Ö ²ÖÖê®ÖÃÖ †Ó¿ÖÖë Ûêú ×®ÖÝÖỐ Ö®Ö’ ŸÖ£ÖÖ (ii) ‘†Ó¿ÖÖë ÛúÖ ¯ÖÏ×ŸÖ ÛÎúµÖ’ Ûêú 

†×ŸÖ×¸üŒŸÖ ŸÖß®Ö †Öî̧ ü ˆ§êü¿µÖÖë Ûêú ×»Ö‹ ×ÛúµÖÖ •ÖÖ ÃÖÛúŸÖÖ Æîü … ‡®Ö ˆ§êü¿µÖÖë ÛúÖ ˆ»»ÖêÜÖ Ûúß×•Ö‹ …  3 

 Securities premium can also be utilized for three other purposes besides (i) ‘Issuing 

fully paid bonus shares’ and (ii) ‘Buy back of shares’. State those purposes.   

 

8. 1-4-2013 ÛúÖê •ÖµÖ ŸÖ£ÖÖ ×¾Ö•ÖµÖ ®Öê, ¤æü¸ü¾ÖŸÖá ŸÖ£ÖÖ ×¯Ö”û›Ìêü õÖê¡ÖÖë ´Öë ×Ã£ÖŸÖ ÃÖ¸üÛúÖ¸üß ×¾ÖªÖ»ÖµÖÖë ÛúÖê ¯ÖÏµÖÖêÝÖ¿ÖÖ»ÖÖ 

ˆ¯ÖÃÛú¸üÖë Ûúß †Ö¯ÖæÙŸÖ ÆêüŸÖã, ÃÖÖ—Öê¤üÖ¸üß ÛúÖ ×®Ö´ÖÖÔÞÖ ×ÛúµÖÖ … ˆ®ÆüÖë®Öê ÛÎú´Ö¿Ö: ` 80,000 ŸÖ£ÖÖ ` 50,000 Ûúß ¯ÖæÑ•Öß 

»ÖÝÖÖ‡Ô ŸÖ£ÖÖ 3 : 2 Ûêú †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö ²ÖÖÑ™ü®Öê Ûêú ×»Ö‹ ÃÖÆü´ÖŸÖ Æãü‹ … ÃÖÖ—Öê¤üÖ¸üß ÃÖÓ»ÖêÜÖ ´Öë ¯ÖæÑ•Öß ¯Ö¸ü 9% ¯ÖÏ×ŸÖ¾ÖÂÖÔ 

²µÖÖ•Ö ¤êü®Öê ÛúÖ ¯ÖÏÖ¾Ö¬ÖÖ®Ö Æîü … ¾ÖÂÖÔ ´Öë ±ú´ÖÔ ®Öê ` 7,800 ÛúÖ »ÖÖ³Ö Ûú´ÖÖµÖÖ …  

 †¯Ö®Öß ÝÖÞÖ®ÖÖ†Öë ÛúÖê Ã¯ÖÂ™ü ºþ¯Ö ÃÖê ¤ü¿ÖÖÔŸÖê Æãü‹ 31-3-2014 ÛúÖê ÃÖ´ÖÖ¯ŸÖ Æãü‹ ¾ÖÂÖÔ Ûêú ×»Ö‹ •ÖµÖ ŸÖ£ÖÖ ×¾Ö•ÖµÖ ÛúÖ 

‘»ÖÖ³Ö-ÆüÖ×®Ö ×®ÖµÖÖê•Ö®Ö’ ÜÖÖŸÖÖ ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …  3 

 On 1-4-2013 Jay and Vijay, entered into partnership for supplying laboratory 

equipments to government schools situated in remote and backward areas. They 

contributed capitals of ` 80,000 and ` 50,000 respectively and agreed to share the 

profits in the ratio of 3 : 2. The partnership deed provided that interest on capital shall 

be allowed at 9% per annum. During the year the firm earned a profit of ` 7,800. 

 Showing your calculations clearly, prepare ‘Profit and Loss Appropriation Account’ of 

Jay and Vijay for the year ended 31-3-2014. 
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9. ÃÖ®Ö ±úÖ´ÖÖÔ ×»Ö×´Ö™êü›ü ` 100 ¯ÖÏŸµÖêÛú Ûêú 1,00,000 ÃÖ´ÖŸÖÖ †Ó¿ÖÖë ´Öë ×¾Ö³ÖŒŸÖ ` 1,00,00,000 Ûúß †×¬ÖÛéúŸÖ ¯ÖæÑ•Öß 

Ûêú ÃÖÖ£Ö ¯ÖÓ•ÖßÛéúŸÖ Æîü … Ûú´¯Ö®Öß ®Öê ` 40 ¯ÖÏ×ŸÖ †Ó¿Ö Ûêú ¯ÖÏß×´ÖµÖ´Ö ¯Ö¸ü 50,000 †Ó¿ÖÖë ÛúÖ ×®ÖÝÖỐ Ö®Ö ×ÛúµÖÖ … ‹Ûú 

†Ó¿Ö¬ÖÖ¸üß, ×•ÖÃÖÛêú ¯ÖÖÃÖ 500 †Ó¿Ö £Öê, ®Öê ` 20 ¯ÖÏ×ŸÖ †Ó¿Ö Ûúß †×®ŸÖ´Ö µÖÖ“Ö®ÖÖ ÛúÖ ³ÖãÝÖŸÖÖ®Ö ®ÖÆüà ×ÛúµÖÖ … ˆÃÖÛêú 

†Ó¿ÖÖë ÛúÖ Æü¸üÞÖ Ûú¸ü ×»ÖµÖÖ ÝÖµÖÖ …  

 Ûú´¯Ö®Öß †×¬Ö×®ÖµÖ´Ö, 1956 Ûúß ÃÖæ“Öß VI ³ÖÖÝÖ I Ûêú †®ÖãÃÖÖ¸ü Ûú´¯Ö®Öß Ûêú ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ ´Öë ‡ÃÖÛúß ‘†Ó¿Ö ¯ÖæÑ•Öß’ 

¯ÖÏÃŸÖãŸÖ Ûúß×•Ö‹ … ‘ÜÖÖŸÖÖë Ûêú ×»Ö‹ ®ÖÖê™ËüÃÖ’ ³Öß ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …  3 

 

 Sun Pharma Ltd. is registered with an authorized capital of ` 1,00,00,000 divided into 

1,00,000 equity shares of ` 100 each. The company issued 50,000 shares at a premium 

of ` 40 per shares. A shareholder holding 500 shares did not pay the final call of ` 20 

per share. His shares were forfeited.  

 Present the ‘Share Capital’ in the Balance Sheet of the Company as per Schedule VI 

Part I of the Companies Act, 1956. Also prepare notes to accounts.  

  

 

10. ‘ÃÖÓÝÖ´Ö ¾Öæ»Ö®ÃÖ ×»Ö×´Ö™êü›ü’, »Öã×¬ÖµÖÖ®ÖÖ, ‰ú®Öß Ûú¯Ö›ÌüÖë Ûêú ×®Ö´ÖÖÔŸÖÖ ŸÖ£ÖÖ ×®ÖµÖÖÔŸÖÛú Æîü … Ûú´¯Ö®Öß ®Öê ×Æü´ÖÖ“Ö»Ö ¯ÖÏ¤êü¿Ö Ûêú 

»ÖÖÆüÖî»Ö-×Ã¯Ö×ŸÖ ×•Ö»Öê Ûêú 10 ÝÖÖÑ¾ÖÖë ÛúÖê ´Öã°ŸÖ ‰ú®Öß Ûú¯Ö›Ìêü ²ÖÖÑ™ü®Öê ÛúÖ ×®ÖÞÖÔµÖ ×»ÖµÖÖ … Ûú´¯Ö®Öß ®Öê ‡®Ö ÝÖÖÑ¾ÖÖë Ûêú               

50 ®ÖÖî•Ö¾ÖÖ®ÖÖë ÛúÖê ³Öß †¯Ö®Öß ®Ö‡Ô »ÖÝÖÖ‡Ô ÝÖ‡Ô ±îúŒ™Òüß ´Öë ®ÖÖîÛú¸üß ¤êü®Öê ÛúÖ ×®ÖÞÖÔµÖ ×»ÖµÖÖ … Ûú´¯Ö®Öß ®Öê ` 10 ¯ÖÏŸµÖêÛú Ûêú 

40,000 ÃÖ´ÖŸÖÖ †Ó¿ÖÖë ŸÖ£ÖÖ ` 100 ¯ÖÏŸµÖêÛú Ûêú 1,000 9% ŠúÞÖ¯Ö¡ÖÖë ÛúÖ ×®ÖÝÖỐ Ö®Ö ´Ö¿Öß®Ö¸üß Ûêú †Ö¯ÖæÙŸÖÛúŸÖÖÔ†Öë ÛúÖê 

` 5,00,000 Ûúß ÛÎúµÖ Ûúß ÝÖ‡Ô ´Ö¿Öß®Ö¸üß Ûêú ×»Ö‹ ×ÛúµÖÖ …  

 †Ö¾Ö¿µÖÛú ¸üÖê•Ö®ÖÖ´Ö“ÖÖ ¯ÖÏ×¾Ö×Â™üµÖÖÑ Ûúß×•Ö‹ … Ûú´¯Ö®Öß «üÖ¸üÖ ÃÖ´ÖÖ•Ö ÛúÖê ÃÖÓ̄ ÖÏê×ÂÖŸÖ ×Ûú‹ •ÖÖ®Öê ¾ÖÖ»Öê ×ÛúÃÖß ‹Ûú ´Öæ»µÖ Ûúß 

¯ÖÆü“ÖÖ®Ö ³Öß Ûúß×•Ö‹ …   3 

 ‘Sangam Woollens Ltd.’, Ludhiana, are the manufacturers and exporters of woollen 

garments. The company decided to distribute free of cost woollen garments to            

10 villages of Lahaul and Spiti District of Himachal Pradesh. The company also 

decided to employ 50 young persons from these villages in its newly established 

factory. The company issued 40,000 equity shares of ` 10 each and 1,000 9% 

debentures of ` 100 each to the vendors for the purchase of machinery of ` 5,00,000. 

 Pass necessary Journal Entries. Also identify any one value that the company wants to 

communicate to the society.  
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11. ÃÖ®Öß, Æü®Öß ŸÖ£ÖÖ ºþ¯Öê¿Ö ‹Ûú ±ú´ÖÔ Ûêú ÃÖÖ—Öê¤üÖ¸ü £Öê … 31-3-2014 ÛúÖê ±ú´ÖÔ ÛúÖ ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ ×®Ö´®Ö ¯ÖÏÛúÖ¸ü £ÖÖ :  

¤êüµÖŸÖÖ‹Ñ  ¸üÖ×¿Ö      
`̀̀̀ 

ÃÖ´¯Ö×¢ÖµÖÖÑ  ¸üÖ×¿Ö       
`̀̀̀ 

»Öê®Ö¤üÖ¸ü  10,000 ÃÖÓµÖ¡Ö ŸÖ£ÖÖ ´Ö¿Öß®Ö¸üß  40,000 

ÃÖÖ´ÖÖ®µÖ ÃÖÓ“ÖµÖ  30,000 ±ú®Öá“Ö¸ü  15,000 

¯ÖæÑ•Öß :  ×®Ö¾Öê¿Ö  20,000 

 ÃÖ®Öß 30,000  ¤êü®Ö¤üÖ¸ü  20,000 

 Æü®Öß 30,000  ¸üÆü×ŸÖµÖÖ  25,000 

 ºþ¯Öê¿Ö 20,000 80,000   

 1,20,000  1,20,000 

 31-12-2014 ÛúÖê Æü®Öß ÛúÖ ¤êüÆüÖ®ŸÖ ÆüÖê ÝÖµÖÖ … ÃÖÖ—Öê¤üÖ¸üß ÃÖÓ»ÖêÜÖ ´Öë ¯ÖÏÖ¾Ö¬ÖÖ®Ö Æîü ×Ûú ´ÖéŸÖÛú ÃÖÖ—Öê¤üÖ¸ü Ûêú ×®ÖÂ¯ÖÖ¤üÛúÖë 
ÛúÖê ×®Ö´®Ö ¤êüµÖ ÆüÖêÝÖÖ : 

 (i) ´ÖéŸÖÛú ÃÖÖ—Öê¤üÖ¸ü Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖê ÛúÖ ¿ÖêÂÖ …  

 (ii) ´ÖéŸµÖã Ûúß ×ŸÖ×£Ö ŸÖÛú ¯ÖæÑ•Öß ¯Ö¸ü 6% ¯ÖÏ×ŸÖ¾ÖÂÖÔ Ûúß ¤ü¸ü ÃÖê ²µÖÖ•Ö …  

 (iii) ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ ´Öë ¤ü¿ÖÖÔµÖê ÝÖµÖê †×¾ÖŸÖ×¸üŸÖ »ÖÖ³Ö †£Ö¾ÖÖ ÆüÖ×®Ö ´Öë ˆÃÖÛúÖ ³ÖÖÝÖ …  

 (iv) ˆÃÖÛúß ´ÖéŸµÖã Ûúß ×ŸÖ×£Ö ŸÖÛú ±ú´ÖÔ Ûêú »ÖÖ³Ö ´Öë ˆÃÖÛúÖ ³ÖÖÝÖ, ×•ÖÃÖÛúß ÝÖÞÖ®ÖÖ ×¯Ö”û»Öê ¾ÖÂÖÔ Ûêú ×¾ÖÛÎúµÖ ¯Ö¸ü ¿Öã̈ ü 
»ÖÖ³Ö Ûúß ¤ü¸ü Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü Ûúß •ÖÖµÖêÝÖß … ×¯Ö”û»Öê ¾ÖÂÖÔ Ûêú ×¾ÖÛÎúµÖ ¯Ö¸ü ¿Öã̈ ü »ÖÖ³Ö Ûúß ¤ü¸ü 20% £Öß …      
31-12-2014 ŸÖÛú ±ú´ÖÔ ÛúÖ ×¾ÖÛÎúµÖ ` 6,00,000 £ÖÖ …  

 ˆÃÖÛêú ×®ÖÂ¯ÖÖ¤üÛúÖë ÛúÖê ¯ÖÏÃŸÖãŸÖ Ûú¸ü®Öê Ûêú ×»Ö‹ Æü®Öß ÛúÖ ¯ÖæÑ•Öß ÜÖÖŸÖÖ ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …  4 

 Sunny, Honey and Rupesh were partners in a firm. On 31-3-2014 their Balance Sheet 
was as follows : 

Liabilities 
Amount 

`̀̀̀ 
Assets 

Amount 

`̀̀̀ 

Creditors 10,000 Plant and machinery 40,000 

General Reserve 30,000 Furniture 15,000 

Capitals :  Investments 20,000 

 Sunny 30,000  Debtors 20,000 

 Honey 30,000  Stock 25,000 

 Rupesh            20,000 80,000   

 1,20,000  1,20,000 

 Honey died on 31-12-2014. The partnership deed provides that the representatives of 

the deceased partner shall be entitled to : 

 (i) Balance in the capital account of the deceased partner. 

 (ii) Interest on capital @ 6% p.a. upto the date of  his death. 

 (iii) His share in the undistributed profits or losses as per the balance sheet.  

 (iv) His share in the profits of the firm till the date of his death, calculated on the 

basis of rate of net profit on sales of the previous year. The rate of net profit on 

sale of previous year was 20%. Sales of the firm during the year till 31-12-2014 

was ` 6,00,000. 

 Prepare Honey’s Capital Account to be presented to his executors. 
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12. Ûãú´ÖÖ¸ü, ÝÖã̄ ŸÖÖ ŸÖ£ÖÖ Ûú×¾ÖŸÖÖ ‹Ûú ±ú´ÖÔ Ûêú ÃÖÖ—Öê¤üÖ¸ü Æïü ŸÖ£ÖÖ »ÖÖ³Ö-ÆüÖ×®Ö ²Ö¸üÖ²Ö¸ü ²ÖÖÑ™üŸÖê Æïü … ±ú´ÖÔ ÛúÖ ¾µÖ¾ÖÃÖÖµÖ 

×›ü²²ÖÖ²ÖÓ¤ü •ÖæÃÖ ÛúÖ ³ÖÞ›üÖ¸üÞÖ ŸÖ£ÖÖ ×¾ÖŸÖ¸üÞÖ Ûú¸ü®ÖÖ Æîü ŸÖ£ÖÖ ‡ÃÖÛêú ÝÖÖê¤üÖ´Ö ¿ÖÆü¸ü ´Öë ŸÖß®Ö •ÖÝÖÆüÖë ¯Ö¸ü ×Ã£ÖŸÖ Æîü … ¯ÖÏŸµÖêÛú 
ÝÖÖê¤üÖ´Ö ÛúÖ ¯ÖÏ²ÖÓ¬Ö®Ö Ûãú´ÖÖ¸ü, ÝÖã̄ ŸÖÖ ŸÖ£ÖÖ Ûú×¾ÖŸÖÖ ¾µÖ×ŒŸÖÝÖŸÖ †Ö¬ÖÖ¸ü ¯Ö¸ü Ûú¸üŸÖê Æïü … ÝÖã̄ ŸÖÖ «üÖ¸üÖ ¯ÖÏ²ÖÓ¬Ö®Ö ×ÛúµÖê •ÖÖ®Öê ¾ÖÖ»Öê 
ÝÖÖê¤üÖ´Ö Ûúß ¾µÖ¾ÖÃÖÖ×µÖÛú ÝÖ×ŸÖ×¾Ö×¬ÖµÖÖë ´Öë ²ÖœÌüÖêŸÖ¸üß Ûêú ÛúÖ¸üÞÖ ˆÃÖê •µÖÖ¤üÖ ÃÖ´ÖµÖ »ÖÝÖÖ®ÖÖ ¯Ö›Ìü ¸üÆüÖ Æîü … ÝÖã̄ ŸÖÖ ®Öê †ÖÝÖÏÆü 
×ÛúµÖÖ ×Ûú »ÖÖ³Ö ´Öë ˆÃÖÛêú ³ÖÖÝÖ ÛúÖê ²ÖœÌüÖµÖÖ •ÖÖµÖê, ×•ÖÃÖê Ûãú´ÖÖ¸ü ŸÖ£ÖÖ Ûú×¾ÖŸÖÖ ®Öê ´ÖÖ®Ö ×»ÖµÖÖ … ®Ö‹ »ÖÖ³Ö †®Öã̄ ÖÖŸÖ        

Ûêú ×»Ö‹ 1 : 2 : 1 ¯Ö¸ü ÃÖÆü´Ö×ŸÖ Æãü‡Ô … ‡ÃÖÛêú ×»Ö‹ ±ú´ÖÔ Ûúß ÜµÖÖ×ŸÖ Ûúß ÝÖÞÖ®ÖÖ ±ú´ÖÔ Ûêú ×¯Ö”û»Öê ¯ÖÖÑ“Ö ¾ÖÂÖÖí Ûêú †ÖîÃÖŸÖ 

»ÖÖ³Ö Ûêú ¤ãüÝÖã®Öê Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü Ûú¸ü®Öê ÛúÖ ×®ÖÞÖÔµÖ ×»ÖµÖÖ ÝÖµÖÖ … ×¯Ö”û»Öê ¯ÖÖÑ“Ö ¾ÖÂÖÖí ÛúÖ »ÖÖ³Ö ×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê £ÖÖ : 

¾ÖÂÖÔ  »ÖÖ³Ö  

 `̀̀̀ 

I 4,00,000 

II 4,80,000 

III 7,33,000 

IV (ÆüÖ×®Ö) 33,000 

V 2,20,000 

 (i) ±ú´ÖÔ Ûúß ÜµÖÖ×ŸÖ Ûúß ÝÖÞÖ®ÖÖ Ûúß×•Ö‹ …  

 (ii) Ûãú´ÖÖ¸ü, ÝÖã̄ ŸÖÖ ŸÖ£ÖÖ Ûú×¾ÖŸÖÖ Ûêú »ÖÖ³Ö ×¾Ö³ÖÖ•Ö®Ö †®Öã̄ ÖÖŸÖ ´Öë ¯Ö×¸ü¾ÖŸÖÔ®Ö Ûêú ÛúÖ¸üÞÖ ÜµÖÖ×ŸÖ Ûêú »ÖêÜÖÖÓÛú®Ö Ûêú ×»Ö‹ 

†Ö¾Ö¿µÖÛú ¸üÖê•Ö®ÖÖ´Ö“ÖÖ ¯ÖÏ×¾Ö×Â™ü Ûúß×•Ö‹ …  4 

 Kumar, Gupta and Kavita were partners in a firm sharing profits and losses equally. 

The firm was engaged in the storage and distribution of canned juice and its godowns 

were located at three different places in the city. Each godown was being managed 

individually by Kumar, Gupta and Kavita. Because of increase in business activities at 

the godown managed by Gupta, he had to devote more time. Gupta demanded that his 

share in the profits of the firm be increased, to which Kumar and Kavita agreed. The 

new profit sharing ratio was agreed to be 1 : 2 : 1. For this purpose the goodwill of the 

firm was valued at two years purchase of the average profits of last five years. The 

profits of the last five years were as follows : 

Year Profit 

 `̀̀̀ 

I 4,00,000 

II 4,80,000 

III 7,33,000 

IV (Loss) 33,000 

V 2,20,000 

 You are required to : 

 (i) Calculate the goodwill of the firm. 

 (ii) Pass necessary Journal Entry for the treatment of goodwill on change in profit 

sharing ratio of Kumar, Gupta and Kavita. 
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13. ²ÖÖȩ̂ üÖ, ØÃÖÆü ŸÖ£ÖÖ †²ÖÎÖ×Æü´Ö ‹Ûú ±ú´ÖÔ Ûêú ÃÖÖ—Öê¤üÖ¸ü £Öê ŸÖ£ÖÖ 5 : 3 : 1 Ûêú †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö ²ÖÖÑ™üŸÖê £Öê … 2-3-2015 

ÛúÖê ˆ®ÖÛúß ±ú´ÖÔ ÛúÖ ×¾Ö‘Ö™ü®Ö ÆüÖê ÝÖµÖÖ … ÃÖ´¯Ö×¢ÖµÖÖë ÛúÖ ×¾ÖÛÎúµÖ ×ÛúµÖÖ ÝÖµÖÖ ŸÖ£ÖÖ ¤êüµÖŸÖÖ†Öë ÛúÖ ³ÖãÝÖŸÖÖ®Ö ×ÛúµÖÖ ÝÖµÖÖ … 
®Öß“Öê ±ú´ÖÔ ÛúÖ ¾ÖÃÖæ»Öß ÜÖÖŸÖÖ, ¯ÖæÑ•Öß ÜÖÖŸÖê ŸÖ£ÖÖ ²ÖïÛú ÜÖÖŸÖÖ ×¤üµÖÖ ÝÖµÖÖ Æîü … ±ú´ÖÔ Ûêú »ÖêÜÖÖ¯ÖÖ»Ö ®Öê ‡®Ö ÜÖÖŸÖÖë ´Öë Ûãú”û 
¸üÖ×¿ÖµÖÖë Ûúß ÜÖŸÖÖî®Öß ”ûÖê›Ìü ¤üß … ÃÖÆüß ¸üÖ×¿ÖµÖÖë Ûúß ÜÖŸÖÖî®Öß Ûú¸üÛêú ‡®Ö ÜÖÖŸÖÖë ÛúÖê ¯Öæ̧ üÖ Ûúß×•Ö‹ :  6 

 ®ÖÖ´Ö     ¾ÖÃÖæ»Öß ÜÖÖŸÖÖ                                                      •Ö´ÖÖ 

×¾Ö¾Ö¸üÞÖ 
¸üÖ×¿Ö       
`̀̀̀ 

×¾Ö¾Ö¸üÞÖ  
¸üÖ×¿Ö       
`̀̀̀ 

¸üÆü×ŸÖµÖÖ 10,000 ›æü²ÖŸÖ ŠúÞÖÖë Ûêú ×»Ö‹ ¯ÖÏÖ¾Ö¬ÖÖ®Ö  5,000 

¤êü®Ö¤üÖ¸ü 25,000 ×¾Ö×³Ö®®Ö »Öê®Ö¤üÖ¸ü  16,600 

ÃÖÓµÖÓ¡Ö ŸÖ£ÖÖ ´Ö¿Öß®Ö¸üß 40,000 ¤êüµÖ ×²Ö»Ö  3,400 

²ÖïÛú :  ²ÖÓ¬ÖÛú ŠúÞÖ 15,000 

 ×¾Ö×³Ö®®Ö »Öê®Ö¤üÖ¸ü   16,000  ²ÖïÛú - ÃÖ´¯Ö×¢ÖµÖÖë ÛúÖ ×¾ÖÛÎúµÖ :  

 ¤êüµÖ ×²Ö»Ö     3,400   ¸üÆü×ŸÖµÖÖ  6,700  

 ²ÖÓ¬ÖÛú ŠúÞÖ   15,000 34,400  ¤êü®Ö¤üÖ¸ü    12,500  

²ÖïÛú (†¤ü¢Ö ´Ö¸ü´´ÖŸÖ)  400  ÃÖÓµÖÓ¡Ö ŸÖ£ÖÖ ´Ö¿Öß®Ö¸üß  36,000 55,200 

²ÖïÛú (¾ÖÃÖæ»Öß ¾µÖµÖ)  620 ²ÖïÛú-»ÖêÜÖÖ ®Ö Ûúß ÝÖ‡Ô ÃÖ´¯Ö×¢ÖµÖÖë   

   ÛúÖ ×¾ÖÛÎúµÖ  6,220 

            ……….. ……. 

 1,10,420  1,10,420 

®ÖÖ´Ö      ¯ÖæÑ•Öß ÜÖÖŸÖê                                                     •Ö´ÖÖ 

×¾Ö¾Ö¸üÞÖ ²ÖÖȩ̂ üÖ ØÃÖÆü †²ÖÎÖ×Æü´Ö ×¾Ö¾Ö¸üÞÖ ²ÖÖȩ̂ üÖ ØÃÖÆü †²ÖÎÖ×Æü´Ö 

 `̀̀̀ `̀̀̀ `̀̀̀  `̀̀̀ `̀̀̀ `̀̀̀ 

– – – – ¿ÖêÂÖ †ÖÝÖê »ÖÖ‹ 22,000 18,000 10,000 

– – – – ÃÖÖ´ÖÖ®µÖ ÃÖÓ“ÖµÖ 2,500 1,500 500 

 24,500 19,500 10,500  24,500 19,500 10,500 

 

²ÖïÛú ÜÖÖŸÖÖ  

          ®ÖÖ´Ö                                                                                                                              •Ö´ÖÖ 

×¾Ö¾Ö¸üÞÖ 
¸üÖ×¿Ö       
`̀̀̀ 

×¾Ö¾Ö¸üÞÖ 
¸üÖ×¿Ö       
`̀̀̀ 

¿ÖêÂÖ †ÖÝÖê »ÖÖ‹  19,500 ¾ÖÃÖæ»Öß ÜÖÖŸÖÖ (¤êüµÖŸÖÖ‹Ñ)  34,400 

¾ÖÃÖæ»Öß ÜÖÖŸÖÖ (ÃÖ´¯Ö×¢ÖµÖÖë ÛúÖ ×¾ÖÛÎúµÖ) 55,200 ¾ÖÃÖæ»Öß ÜÖÖŸÖÖ (†¯Ö×»Ö×ÜÖŸÖ ¤êüµÖŸÖÖ‹Ñ) 400 

…………………. ……… ………….. ……… 

  ………….. ……… 

 80,920  80,920 
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 Bora, Singh and Ibrahim were partners in a firm sharing profits in the ratio of 5 : 3 : 1. 

On 2-3-2015 their firm was dissolved. The assets were realized and the liabilities were 

paid off. Given below are the Realisation Account, Partners’ Capital Accounts and 

Bank Account of the firm. The accountant of the firm left a few amounts unposted in 

these accounts. You are required to complete these accounts by posting the correct 

amounts.  

 Dr.     Realisation Account                                                Cr. 

Particulars 
Amount 

`̀̀̀ 
Particulars  

Amount 

`̀̀̀ 

To Stock 10,000 By Provision for bad debts 5,000 

To Debtors 25,000 By Sundry Creditors 16,600 

To Plant and Machinery 40,000 By Bills Payable 3,400 

To Bank :  By Mortgage Loan 15,000 

 Sundry Creditors 16,000  By Bank – assets realized :  

 Bills Payable   3,400   Stock  6,700  

 Mortgage Loan 15,000 34,400  Debtors   12,500  

To Bank (Outstanding repairs) 400  Plant & Machinery 36,000 55,200 

To Bank (Exp.) 620 By Bank-unrecorded assets   

        realized 6,220 

  By  ________  ––– 

 1,10,420  1,10,420 

Dr.      Capital Accounts                                                Cr. 

Particulars Bora Singh Ibrahim Particulars Bora Singh Ibrahim 

 ` ` `  ` ` ` 

– – – – By Bal. b/d 22,000 18,000 10,000 

– – – – 
By General 

Reserve 
2,500 1,500 500 

 24,500 19,500 10,500  24,500 19,500 10,500 

 

Bank Account 

          Dr.                                                                                                                              Cr. 

Particulars 
Amount 

`̀̀̀ 
Particulars  

Amount 

`̀̀̀ 

To Bal. b/d 19,500 By Realisation (liabilities) 34,400 

To Realisation                   

(assets realized) 55,200 

By Realisation (unrecorded 

liabilities ) 

400 

_____________ _______ By _________ _______ 

  By _________ _______ 

 80,920  80,920 
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14. 1-4-2010 ÛúÖê ÃÖÖ×Æü»Ö ŸÖ£ÖÖ “ÖÖºþ ®Öê 4 : 3 †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö ²ÖÖÑ™ü®Öê Ûêú ×»Ö‹ ‹Ûú ÃÖÖ—Öê¤üÖ¸üß ²Ö®ÖÖ‡Ô … 1-4-2012 

ÛúÖê ˆ®ÆüÖë®Öê ŸÖ®Öã ÛúÖê »ÖÖ³Ö Ûêú 
1

5
  ³ÖÖÝÖ Ûêú ×»Ö‹ ‹Ûú ®ÖµÖÖ ÃÖÖ—Öê¤üÖ¸ü ²Ö®ÖÖµÖÖ ×•ÖÃÖê ŸÖ®Öã ®Öê ÃÖÖ×Æü»Ö ŸÖ£ÖÖ “ÖÖºþ ÃÖê ²Ö¸üÖ²Ö¸ü 

†×¬ÖÝÖÏ×ÆüŸÖ ×ÛúµÖÖ … 31-3-2013 ÛúÖê ÃÖ´ÖÖ¯ŸÖ Æãü‹ ¾ÖÂÖÔ Ûêú ×»Ö‹ ÃÖÖ×Æü»Ö, “ÖÖºþ ŸÖ£ÖÖ ŸÖ®Öã ®Öê ÃÖÖ´ÖÖ®µÖ »ÖÖ³Ö ¤ü¸ü ÃÖê 

†×¬ÖÛú »ÖÖ³Ö †Ù•ÖŸÖ ×ÛúµÖÖ … †ŸÖ: ˆ®ÆüÖë®Öê †¯Ö®Öê ¾µÖ¾ÖÃÖÖµÖ ÛúÖ ×¾ÖÃŸÖÖ¸ü Ûú¸ü®Öê ÛúÖ ×®ÖÞÖÔµÖ ×ÛúµÖÖ … †×ŸÖ×¸üŒŸÖ ¯ÖæÑ•Öß 

Ûúß †Ö¾Ö¿µÖÛúŸÖÖ ÛúÖê ¯Öæ̧ üÖ Ûú¸ü®Öê Ûêú ×»Ö‹ ˆ®ÆüÖë®Öê 1-4-2013 ÛúÖê »ÖÖ³Ö Ûêú 
1

7
  ³ÖÖÝÖ Ûêú ×»Ö‹ ¯Öã®ÖßŸÖ ÛúÖê ‹Ûú ®ÖµÖÖ 

ÃÖÖ—Öê¤üÖ¸ü ²Ö®ÖÖµÖÖ ×•ÖÃÖê ˆÃÖ®Öê ÃÖÖ×Æü»Ö ŸÖ£ÖÖ “ÖÖºþ ÃÖê 7 : 3 Ûêú †®Öã̄ ÖÖŸÖ ´Öë †×¬ÖÝÖÏ×ÆüŸÖ ×ÛúµÖÖ …  

 ÝÖÞÖ®ÖÖ Ûúß×•Ö‹ : 

 (i) 2012-13 ¾ÖÂÖÔ Ûêú ×»Ö‹ ÃÖÖ×Æü»Ö, “ÖÖºþ ŸÖ£ÖÖ ŸÖ®Öã ÛúÖ ®ÖµÖÖ »ÖÖ³Ö †®Öã̄ ÖÖŸÖ …  

 (ii) ¯Öã®ÖßŸÖ Ûêú ¯ÖÏ¾Öê¿Ö ¯Ö¸ü ÃÖÖ×Æü»Ö, “ÖÖºþ, ŸÖ®Öã ŸÖ£ÖÖ ¯Öã®ÖßŸÖ ÛúÖ ®ÖµÖÖ »ÖÖ³Ö †®Öã̄ ÖÖŸÖ …  6 

 On 1-4-2010 Sahil and Charu entered into partnership for sharing profits in the ratio of 

4 : 3. They admitted Tanu as a new partner on 1-4-2012 for 
1

5
 th share which she  

acquired equally from Sahil and Charu. Sahil, Charu and Tanu earned profits at a 

higher rate than the normal rate of return for the year ended 31-3-2013. Therefore, they 

decided to expand their business. To meet the requirements of additional capital they 

admitted Puneet as a new partner on 1-4-2013 for 
1

7
 th share in profits which he 

acquired from Sahil and Charu in 7 : 3 ratio. 

 Calculate : 

 (i) New profit sharing ratio of Sahil, Charu and Tanu for the year 2012-13. 

 (ii) New profit sharing ratio of Sahil, Charu, Tanu and Puneet on Puneet’s 

admission. 

 

   

15. ³ÖÖ¸üŸÖ ×»Ö×´Ö™êü›ü Ûúß †×¬ÖÛéúŸÖ ¯ÖæÑ•Öß ` 20,00,000 £Öß, •ÖÖê ` 10 ¯ÖÏŸµÖêÛú Ûêú 2,00,000 ÃÖ´ÖŸÖÖ †Ó¿ÖÖë ´Öë ×¾Ö³ÖŒŸÖ 

£Öß … Ûú´¯Ö®Öß ®Öê 1,00,000 †Ó¿ÖÖë ÛúÖ ×®ÖÝÖỐ Ö®Ö ×ÛúµÖÖ ŸÖ£ÖÖ 31-3-2008 ÛúÖê ÃÖ´ÖÖ¯ŸÖ Æãü‹ ¾ÖÂÖÔ Ûêú ×»Ö‹ »ÖÖ³ÖÖÓ¿Ö 

¯ÖÏ×ŸÖ †Ó¿Ö ` 2 £ÖÖ … Ûú´¯Ö®Öß Ûêú ¯ÖÏ²ÖÓ¬Ö®Ö ®Öê ‡ÃÖÛêú ˆŸ¯ÖÖ¤üÖë ÛúÖê ¯Ö›ÌüÖêÃÖß ¤êü¿ÖÖë ®Öê̄ ÖÖ»Ö, ³Öæ™üÖ®Ö, ÁÖß»ÖÓÛúÖ ŸÖ£ÖÖ ²ÖÖÓÝ»ÖÖ¤êü¿Ö 

´Öë ×®ÖµÖÖÔŸÖ Ûú¸ü®Öê ÛúÖ ×®ÖÞÖÔµÖ ×»ÖµÖÖ … †×ŸÖ×¸üŒŸÖ ×¾Ö¢Ö Ûúß †Ö¾Ö¿µÖÛúŸÖÖ ÛúÖê ¯Öæ̧ üÖ Ûú¸ü®Öê Ûêú ×»Ö‹ Ûú´¯Ö®Öß Ûêú ×¾Ö¢ÖßµÖ 

¯ÖÏ²ÖÓ¬ÖÛú ®Öê ‡ÃÖÛêú ×®Ö¤êü¿ÖÛú ´ÖÞ›ü»Ö Ûêú ÃÖ´´ÖãÜÖ ×®Ö´®Ö×»Ö×ÜÖŸÖ ŸÖß®Ö ×¾ÖÛú»¯Ö ¸üÜÖë : 

 (i) 54,000 ÃÖ´ÖŸÖÖ †Ó¿ÖÖë ÛúÖ ×®ÖÝÖỐ Ö®Ö …  

 (ii) ³ÖÖ¸üŸÖßµÖ †ÖµÖÖŸÖ ‹¾ÖÓ ×®ÖµÖÖÔŸÖ ²ÖïÛú ÃÖê ŠúÞÖ ¯ÖÏÖ¯ŸÖ ×ÛúµÖÖ •ÖÖµÖê … ŠúÞÖ 12% ¯ÖÏ×ŸÖ ¾ÖÂÖÔ Ûúß ²µÖÖ•Ö ¤ü¸ü ¯Ö¸ü 

ˆ¯Ö»Ö²¬Ö £ÖÖ …  

 (iii) 9% ŠúÞÖ¯Ö¡ÖÖë ÛúÖ 10% Ûêú ²Ö¼êü ¯Ö¸ü ×®ÖÝÖỐ Ö®Ö ×ÛúµÖÖ •ÖÖ‹ …  
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 ˆ¯Ö»Ö²¬Ö ×¾ÖÛú»¯ÖÖë Ûúß ŸÖã»Ö®ÖÖ Ûú¸ü®Öê Ûêú ¯Ö¿“ÖÖŸÖË Ûú´¯Ö®Öß ®Öê 1-4-2008 ÛúÖê ` 100 ¯ÖÏŸµÖêÛú Ûêú 6,000 ŠúÞÖ¯Ö¡ÖÖë ÛúÖê 

10% Ûêú ²Ö¼êü ¯Ö¸ü ×®ÖÝÖÔ×´ÖŸÖ Ûú¸ü®Öê ÛúÖ ×®ÖÞÖÔµÖ ×»ÖµÖÖ … ‡®Ö ŠúÞÖ¯Ö¡ÖÖë ÛúÖ ¿ÖÖê¬Ö®Ö ŸÖßÃÖ¸êü ¾ÖÂÖÔ Ûúß ÃÖ´ÖÖ×¯ŸÖ ÃÖê †Ö¸ü´³Ö 

Ûú¸üÛêú “ÖÖ¸ü ×Ûú¿ŸÖÖë ´Öë Ûú¸ü®ÖÖ £ÖÖ … ŸÖßÃÖ ȩ̂ü, “ÖÖî£Öê, ¯ÖÖÑ“Ö¾Öë ŸÖ£ÖÖ ”ûšêüÓ ¾ÖÂÖÔ Ûêú †ÓŸÖ ´Öë ¿ÖÖê¬Ö®Ö ×ÛúµÖê •ÖÖ®Öê ¾ÖÖ»Öê ŠúÞÖ¯Ö¡ÖÖë 

Ûúß ¸üÖ×¿Ö ×®Ö´®Ö ¯ÖÏÛúÖ¸ü £Öß : 

¾ÖÂÖÔ  ¸üÖ×¿Ö  

 `̀̀̀ 

III 1,00,000 

IV 1,00,000 

V 2,00,000 

VI 2,00,000 

 2008-09 ÃÖê 2013-14 ¾ÖÂÖÖí Ûêú ×»Ö‹ 9% ŠúÞÖ¯Ö¡Ö ÜÖÖŸÖÖ ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …  6 

 Bharat Ltd. had an authorized capital of ` 20,00,000 divided into 2,00,000 equity 

shares of ` 10 each.  The company issued 1,00,000 shares and the dividend paid per 

share was ` 2 for the year ended 31-3-2008. The management of the company decided 

to export its products to the neighbouring countries Nepal, Bhutan, Sri Lanka and 

Bangladesh. To meet the requirement of additional funds the financial manager of the 

company put up the following three alternatives before its Board of Directors : 

 (i) Issue 54,000 equity shares. 

 (ii) Obtain a loan from Import and Export Bank of India. The loan was available at 

12% per annum interest. 

 (iii) To issue 9% Debentures at a discount of 10%. 

 After comparing the available alternatives the company decided on 1-4-2008 to issue 

6,000 9% debentures of ` 100 each at a discount of 10%. These debentures were 

redeemable in four instalments starting from the end of third year. The amount of 

debentures to be redeemed at the end of third, fourth, fifth and sixth year was as 

follows : 

Year Profit 

 `̀̀̀ 

III 1,00,000 

IV 1,00,000 

V 2,00,000 

VI 2,00,000 

 Prepare 9% Debentures Account for the years 2008-09 to 2013-14. 



67/1/3 12  

16. ‘¾Öê»Ö®ÖêÃÖ ×»Ö×´Ö™êü›ü’ ®Öê ` 10 ¯ÖÏŸµÖêÛú Ûêú 40,000 †Ó¿ÖÖë ÛúÖê 10% Ûêú ²Ö¼êü ¯Ö¸ü ×®ÖÝÖÔ×´ÖŸÖ Ûú¸ü®Öê Ûêú ×»Ö‹ †Ö¾Öê¤ü®Ö 

†Ö´ÖÓ×¡ÖŸÖ ×ÛúµÖê … ¸üÖ×¿Ö ÛúÖ ³ÖãÝÖŸÖÖ®Ö ×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê Ûú¸ü®ÖÖ £ÖÖ : 8 

 †Ö¾Öê¤ü®Ö ŸÖ£ÖÖ †Ö²ÖÓ™ü®Ö ¯Ö¸ü – ` 4 ¯ÖÏ×ŸÖ †Ó¿Ö  

 ¯ÖÏ£Ö´Ö µÖÖ“Ö®ÖÖ ¯Ö¸ü – ` 3 ¯ÖÏ×ŸÖ †Ó¿Ö  

 ¤æüÃÖ¸üß ŸÖ£ÖÖ †×®ŸÖ´Ö µÖÖ“Ö®ÖÖ ¯Ö¸ü – ¿ÖêÂÖ  

 39,000 †Ó¿ÖÖë Ûêú ×»Ö‹ †Ö¾Öê¤ü®Ö ¯ÖÏÖ¯ŸÖ Æãü‹ ŸÖ£ÖÖ ÃÖ³Öß †Ö¾Öê¤üÛúÖë ÛúÖê †Ó¿ÖÖë ÛúÖ †Ö²ÖÓ™ü®Ö Ûú¸ü ×¤üµÖÖ ÝÖµÖÖ…  

 ³ÖãÝÖŸÖÖ®Ö ×®Ö´®Ö ×¤üµÖê ÝÖµÖê ×¾Ö¾Ö¸üÞÖ Ûêú †®ÖãÃÖÖ¸ü ¯ÖÏÖ¯ŸÖ Æãü†Ö : 

 30,000 †Ó¿ÖÖë ¯Ö¸ü – ¯ÖæÞÖÔ ¸üÖ×¿Ö  

 6,000 †Ó¿ÖÖë ¯Ö¸ü – ` 7 ¯ÖÏ×ŸÖ †Ó¿Ö  

 3,000 †Ó¿ÖÖë ¯Ö¸ü – ` 4 ¯ÖÏ×ŸÖ †Ó¿Ö  

 ×®Ö¤êü¿ÖÛúÖë ®Öê ˆ®Ö †Ó¿ÖÖë ÛúÖ Æü¸üÞÖ Ûú¸ü ×»ÖµÖÖ ×•Ö®Ö ¯Ö¸ü ` 7 ¯ÖÏ×ŸÖ †Ó¿Ö ÃÖê Ûú´Ö ¯ÖÏÖ¯ŸÖ Æãü‹ £Öê … Æü¸üÞÖ ×ÛúµÖê ÝÖ‹ †Ó¿ÖÖë 

ÛúÖê ` 8 ¯ÖÏ×ŸÖ †Ó¿Ö ¯ÖæÞÖÔ ¯ÖÏ¤ü¢Ö ¯Öã®Ö: ×®ÖÝÖÔ×´ÖŸÖ Ûú¸ü ×¤üµÖÖ ÝÖµÖÖ …  

 ˆ¯Ö¸üÖêŒŸÖ »Öê®Ö¤êü®ÖÖë Ûêú ×»Ö‹ Ûú´¯Ö®Öß Ûúß ¯ÖãÃŸÖÛúÖë ´Öë †Ö¾Ö¿µÖÛú ¸üÖê•Ö®ÖÖ´Ö“ÖÖ ¯ÖÏ×¾Ö×Â™üµÖÖÑ Ûúß×•Ö‹ …    

†£Ö¾ÖÖ  

 ‘¿Öã³Ö´Ö ×»Ö×´Ö™êü›ü’ ®Öê ` 10 ¯ÖÏŸµÖêÛú Ûêú 12,000 ÃÖ´ÖŸÖÖ †Ó¿ÖÖë ÛúÖê ` 3 ¯ÖÏ×ŸÖ †Ó¿Ö Ûêú ¯ÖÏß×´ÖµÖ´Ö ¯Ö¸ü ×®ÖÝÖÔ×´ÖŸÖ Ûú¸ü®Öê 

Ûêú ×»Ö‹ †Ö¾Öê¤ü®Ö †Ö´ÖÓ×¡ÖŸÖ ×ÛúµÖê … ¸üÖ×¿Ö ÛúÖ ³ÖãÝÖŸÖÖ®Ö ×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê Ûú¸ü®ÖÖ £ÖÖ : 

 †Ö¾Öê¤ü®Ö ŸÖ£ÖÖ †Ö²ÖÓ™ü®Ö ¯Ö¸ü – ` 6 ¯ÖÏ×ŸÖ †Ó¿Ö (¯ÖÏß×´ÖµÖ´Ö ÃÖ×ÆüŸÖ) 

 ¯ÖÏ£Ö´Ö µÖÖ“Ö®ÖÖ ¯Ö¸ü – ` 4 ¯ÖÏ×ŸÖ †Ó¿Ö  

 ¤æüÃÖ¸üß ŸÖ£ÖÖ †×®ŸÖ´Ö µÖÖ“Ö®ÖÖ ¯Ö¸ü – ¿ÖêÂÖ  

 18,000 †Ó¿ÖÖë Ûêú ×»Ö‹ †Ö¾Öê¤ü®Ö ¯ÖÏÖ¯ŸÖ Æãü‹ … ÃÖ³Öß †Ö¾Öê¤üÛúÖë ÛúÖê †®Öã̄ ÖÖ×ŸÖÛú †Ö¬ÖÖ¸ü ¯Ö¸ü †Ó¿ÖÖë ÛúÖ †Ö²ÖÓ™ü®Ö Ûú¸ü 

×¤üµÖÖ ÝÖµÖÖ … †Ö¾Öê¤ü®Ö ¯Ö¸ü ¯ÖÏÖ¯ŸÖ †×ŸÖ×¸üŒŸÖ ¸üÖ×¿Ö ÛúÖ ÃÖ´ÖÖµÖÖê•Ö®Ö ¯ÖÏ£Ö´Ö µÖÖ“Ö®ÖÖ ¯Ö¸ü ¤êüµÖ ¸üÖ×¿Ö ´Öë Ûú¸ü ×»ÖµÖÖ ÝÖµÖÖ … 

ÃÖ³Öß µÖÖ“Ö®ÖÖ ´ÖÖÑÝÖ »Öß ÝÖ‡Ô ŸÖ£ÖÖ ¯ÖÏÖ¯ŸÖ ÆüÖê ÝÖ‡Ô … ×¾Ö³Öæ ×•ÖÃÖê 120 †Ó¿ÖÖë ÛúÖ †Ö²ÖÓ™ü®Ö ×ÛúµÖÖ ÝÖµÖÖ £ÖÖ, ®Öê ¯ÖÏ£Ö´Ö µÖÖ“Ö®ÖÖ 

ŸÖ£ÖÖ ¤æüÃÖ¸üß ¾Ö †×®ŸÖ´Ö µÖÖ“Ö®ÖÖ ÛúÖ ³ÖãÝÖŸÖÖ®Ö ®ÖÆüà ×ÛúµÖÖ … ˆÃÖÛêú †Ó¿ÖÖë ÛúÖ Æü¸üÞÖ Ûú¸ü ×»ÖµÖÖ ÝÖµÖÖ … Æü¸üÞÖ ×ÛúµÖê ÝÖµÖê 

†Ó¿ÖÖë ÛúÖê Ûú´¯Ö®Öß †×¬Ö×®ÖµÖ´Ö, 1956 Ûêú ¯ÖÏÖ¾Ö¬ÖÖ®ÖÖë Ûêú †®ÖãÃÖÖ¸ü †×¬ÖÛúŸÖ´Ö ²Ö¼êü ¯Ö¸ü ×®ÖÝÖÔ×´ÖŸÖ Ûú¸ü ×¤üµÖÖ ÝÖµÖÖ …  

 ˆ¯Ö¸üÖêŒŸÖ »Öê®Ö¤êü®ÖÖë Ûêú ×»Ö‹ Ûú´¯Ö®Öß Ûúß ¯ÖãÃŸÖÛúÖë ´Öë †Ö¾Ö¿µÖÛú ¸üÖê•Ö®ÖÖ´Ö“ÖÖ ¯ÖÏ×¾Ö×Â™üµÖÖÑ Ûúß×•Ö‹ …   
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 ‘Wellness Ltd.’ invited applications for issuing 40,000 equity shares of ` 10 each at a 

discount of 10%. The amount was payable as follows : 

 On application and allotment – ` 4 per share. 

 On first call – ` 3 per share. 

 On second and final call – The balance. 

 Applications for 39,000 shares were received and allotment was made to all the 

applicants. 

 The payment was received as per the following details : 

 On 30,000 shares – Full amount. 

 On 6,000 shares – ` 7 per share. 

 On 3,000 shares – ` 4 per share. 

 The Directors forfeited those shares on which less than ` 7 per share were received. 

The forfeited shares were re-issued at ` 8 per share as fully paid up. 

 Pass necessary Journal Entries in the books of the company for the above transactions.   

OR 

 ‘Subham Ltd.’ invited applications for issuing 12,000 equity shares of ` 10 each at a 

premium of ` 3 per share. The amount was payable as follows : 

 On application and allotment – ` 6 per share. (Including Premium) 

 On first call – ` 4 per share. 

 On second and final call – The balance. 

 Applications for 18,000 shares were received and pro-rata allotment was made to all 

the applicants.  

 Excess money received with applications was adjusted towards sums due on first call. 

All calls were made and were duly received except the first call and second and final 

call on 120 shares allotted to Vibhu. His shares were forfeited. The forfeited shares 

were reissued at the maximum permissible discount as per the provisions of the 

Companies Act, 1956. 

 Pass necessary Journal Entries for the above transactions in the books of the company. 
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17. “ÖÖºþ ŸÖ£ÖÖ ÆüÂÖÖÔ ‹Ûú ±ú´ÖÔ ´Öë ÃÖÖ—Öê¤üÖ¸ü £Öê ŸÖ£ÖÖ 3 : 2 Ûêú †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö ²ÖÖÑ™üŸÖê £Öê … 1-4-2014 ÛúÖê ˆ®ÖÛúÖ 

×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ ×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê £ÖÖ : 8 

1-4-2014 ÛúÖê “ÖÖºþ ŸÖ£ÖÖ ÆüÂÖÖÔ ÛúÖ ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ  

¤êüµÖŸÖÖ‹Ñ 
¸üÖ×¿Ö       

`̀̀̀ 
ÃÖ´¯Ö×¢ÖµÖÖÑ  

¸üÖ×¿Ö       

`̀̀̀ 

»Öê®Ö¤üÖ¸ü  17,000 ¸üÖêÛú›Ìü 6,000 

ÃÖÖ´ÖÖ®µÖ ÃÖÓ“ÖµÖ  4,000 ¤êü®Ö¤üÖ¸ü  15,000 

Ûú´ÖÔ“ÖÖ¸üß õÖ×ŸÖ¯ÖæÙŸÖ ÛúÖêÂÖ  9,000 ×®Ö¾Öê¿Ö 20,000 

×®Ö¾Öê¿Ö ˆŸÖÖ¸ü-“ÖœÌüÖ¾Ö ÛúÖêÂÖ  11,000 ÃÖÓµÖÓ¡Ö  14,000 

›æü²ÖŸÖ ŠúÞÖÖë Ûêú ×»Ö‹ ¯ÖÏÖ¾Ö¬ÖÖ®Ö  2,000 ³Öæ×´Ö ŸÖ£ÖÖ ³Ö¾Ö®Ö 38,000 

¯ÖæÑ•Öß :    

 “ÖÖºþ   30,000    

 ÆüÂÖÖÔ    20,000 50,000   

 93,000  93,000 

 ˆ¯Ö¸üÖêŒŸÖ ×ŸÖ×£Ö ÛúÖê ±ú´ÖÔ ´Öë »ÖÖ³Ö ´Öë 
1

4
 ³ÖÖÝÖ Ûêú ×»Ö‹ ×®Ö´®Ö ¿ÖŸÖÖí ¯Ö¸ü ¾Öî¿ÖÖ»Öß ÛúÖê ‹Ûú ®ÖµÖÖ ÃÖÖ—Öê¤üÖ¸ü ²Ö®ÖÖµÖÖ ÝÖµÖÖ : 

 (Ûú) ¾Öî¿ÖÖ»Öß ` 20,000 †¯Ö®Öß ¯ÖæÑ•Öß Ûêú ×»Ö‹ ŸÖ£ÖÖ ` 4,000 †¯Ö®Öê ³ÖÖÝÖ Ûêú ÜµÖÖ×ŸÖ-¯ÖÏß×´ÖµÖ´Ö Ûêú ×»Ö‹    

»ÖÖµÖêÝÖß …  

 (ÜÖ) ÃÖ³Öß ¤êü®Ö¤üÖ¸üÖë ÛúÖê ¯ÖÏÖ¯µÖ-µÖÖêÝµÖ ÃÖ´Ö—ÖÖ ÝÖµÖÖ …  

 (ÝÖ) ×®Ö¾Öê¿ÖÖë ÛúÖ ²ÖÖ•ÖÖ¸ü ´Öæ»µÖ ` 15,000 £ÖÖ …  

 (‘Ö) Ûú´ÖÔ“ÖÖ¸üß õÖ×ŸÖ¯ÖæÙŸÖ Ûêú ×»Ö‹  ` 6,000 Ûúß ‹Ûú ¤êüµÖŸÖÖ £Öß …  

 (’û) “ÖÖºþ ŸÖ£ÖÖ ÆüÂÖÖÔ Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖÖë ÛúÖ ÃÖ´ÖÖµÖÖê•Ö®Ö ¾Öî¿ÖÖ»Öß Ûúß ¯ÖæÑ•Öß Ûêú †Ö¬ÖÖ¸ü ¯Ö¸ü ×ÛúµÖÖ •ÖÖµÖêÝÖÖ … ‡ÃÖ ˆ§êü¿µÖ 

Ûêú ×»Ö‹ “ÖÖ»Öæ ÜÖÖŸÖê ÜÖÖê»Öê •ÖÖµÖëÝÖê …  

 ¯Öã®Ö´ÖæÔ»µÖÖÓÛú®Ö ÜÖÖŸÖÖ ŸÖ£ÖÖ ÃÖÖ—Öê¤üÖ¸üÖë Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖê ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …  

†£Ö¾ÖÖ  
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 †×´ÖŸÖ, ²ÖÖ»Ö®Ö ŸÖ£ÖÖ “Ö®¤ü¸ü ‹Ûú ±ú´ÖÔ Ûêú ÃÖÖ—Öê¤üÖ¸ü £Öê ŸÖ£ÖÖ ÛÎú´Ö¿Ö: 
1

2
 , 

1

3
 ŸÖ£ÖÖ 

1

6
 Ûêú †®Öã̄ ÖÖŸÖ ´Öë »ÖÖ³Ö ²ÖÖÑ™üŸÖê £Öê … 

1-4-2014 ÛúÖê “Ö®¤ü¸ü ®Öê †¾ÖÛúÖ¿Ö ÝÖÏÆüÞÖ ×ÛúµÖÖ … “Ö®¤ü¸ü Ûêú †¾ÖÛúÖ¿Ö ÝÖÏÆüÞÖ Ûú¸üŸÖê ÃÖ´ÖµÖ ±ú´ÖÔ ÛúÖ ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ 
×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê £ÖÖ :  

1-4-2014 ÛúÖê †×´ÖŸÖ, ²ÖÖ»Ö®Ö ŸÖ£ÖÖ “Ö®¤ü¸ü ÛúÖ ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ  

¤êüµÖŸÖÖ‹Ñ  
¸üÖ×¿Ö       
`̀̀̀ 

ÃÖ´¯Ö×¢ÖµÖÖÑ  
¸üÖ×¿Ö       
`̀̀̀ 

×¾Ö×³Ö®®Ö »Öê®Ö¤üÖ¸ü  12,600 ²ÖïÛú  4,100 

³Ö×¾ÖÂµÖ ×®Ö×¬Ö  3,000 ¤êü®Ö¤üÖ¸ü            30,000   

ÃÖÖ´ÖÖ®µÖ ÃÖÓ“ÖµÖ 9,000 ‘Ö™üÖ  : ¯ÖÏÖ¾Ö¬ÖÖ®Ö  1,000 29,000 

¯ÖæÑ•Öß :  ¸üÆü×ŸÖµÖÖ  25,000 

 †×´ÖŸÖ    40,000  ×®Ö¾Öê¿Ö  10,000 

 ²ÖÖ»Ö®Ö   36,500  ¯Öê™êü®™ËüÃÖ  5,000 

 “Ö®¤ü¸ü    20,000 96,500 ´Ö¿Öß®Ö¸üß  48,000 

 1,21,100  1,21,100 

 µÖÆü ÃÖ´Ö—ÖÖîŸÖÖ Æãü†Ö ×Ûú : 

 (Ûú) ÜµÖÖ×ŸÖ ÛúÖ ´Öæ»µÖÖÓÛú®Ö ` 27,000 ¯Ö¸ü ×ÛúµÖÖ •ÖÖµÖêÝÖÖ …  

 (ÜÖ) ´Ö¿Öß®Ö¸üß ¯Ö¸ü 10% ´Öæ»µÖÈüÖÃÖ »ÖÝÖÖ®ÖÖ £ÖÖ …  

 (ÝÖ) ¯Öê™êüü®™ËüÃÖ ÛúÖê 20% Ûú´Ö Ûú¸ü®ÖÖ £ÖÖ …  

 (‘Ö) ³Ö×¾ÖÂµÖ ×®Ö×¬Ö ¤êüµÖŸÖÖ ÛúÖ †®Öã́ ÖÖ®Ö ` 2,400 £ÖÖ …  

 (’û) “Ö®¤ü¸ü ®Öê ×®Ö¾Öê¿Ö ÛúÖê ` 15,800 ´Öë »Öê ×»ÖµÖÖ …  

 (“Ö) †×´ÖŸÖ ŸÖ£ÖÖ ²ÖÖ»Ö®Ö ®Öê “ÖÖ»Öæ ÜÖÖŸÖê ÜÖÖê»Ö Ûú¸ †¯Ö®Öß ¯ÖæÑ•Öß ÛúÖê †¯Ö®Öê »ÖÖ³Ö †®Öã̄ ÖÖŸÖ ´Öë ÃÖ´ÖÖµÖÖê×•ÖŸÖ Ûú¸ü®Öê ÛúÖ 

×®ÖÞÖÔµÖ ×»ÖµÖÖ …  

 “Ö®¤ü¸ü Ûêú †¾ÖÛúÖ¿Ö ÝÖÏÆüÞÖ Ûú¸ü®Öê ¯Ö¸ü ¯Öã®Ö´ÖæÔ»µÖÖÓÛú®Ö ÜÖÖŸÖÖ ŸÖ£ÖÖ ÃÖÖ—Öê¤üÖ¸üÖë Ûêú ¯ÖæÑ•Öß ÜÖÖŸÖê ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …   
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 Charu and Harsha were partners in a firm sharing profits in the ratio of 3 : 2. On                 

1-4-2014 their Balance Sheet was as follows : 

 

Balance Sheet of Charu and Harsha as on 1-4-2014 

Liabilities 
Amount 

`̀̀̀ 
Assets 

Amount 

`̀̀̀ 

Creditors 17,000 Cash 6,000 

General Reserve 4,000 Debtors 15,000 

Workmen Compensation Fund 9,000 Investments 20,000 

Investment Fluctuation Fund 11,000 Plant 14,000 

Provision for bad debts 2,000 Land and Building  38,000 

Capitals :    

 Charu   30,000    

 Harsha   20,000 50,000   

 93,000  93,000 

 

 On the above date Vaishali was admitted for ¼th share in the profits of the firm on the 

following terms : 

 (a) Vaishali will bring ` 20,000 for her capital and ` 4,000 for her share of goodwill 

premium. 

 (b) All debtors were considered good. 

 (c) The market value of investments was ` 15,000. 

 (d) There was a liability of ` 6,000 for workmen compensation. 

 (e) Capital accounts of Charu and Harsha are to be adjusted on the basis of 

Vaishali’s capital by opening current accounts. 

 Prepare Revaluation Account and Partners’ Capital Accounts.  

OR 
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 Amit, Balan and Chander were partners in a firm sharing profits in the proportion of         

1

2
 , 

1

3
 and 

1

6
 respectively. Chander retired on 1-4-2014. The Balance Sheet of the firm 

on the date of Chander’s retirement was as follows :  
 

Balance Sheet of Amit, Balan and Chander as on 1-4-2014 

Liabilities 
Amount 

`̀̀̀ 
Assets 

Amount 

`̀̀̀ 

Sundry Creditors 12,600 Bank 4,100 

Provident Fund 3,000 Debtors   30,000  

General Reserve 9,000 Less : Provision        1,000 29,000 

Capitals :  Stock 25,000 

 Amit   40,000  Investments 10,000 

 Balan   36,500  Patents 5,000 

 Chander        20,000 96,500 Machinery 48,000 

 1,21,100  1,21,100 

 It was agreed that : 

 (a) Goodwill will be valued at ` 27,000. 

 (b) Depreciation of 10% was to be provided on machinery. 

 (c) Patents were to be reduced by 20%. 

 (d) Liability on account of Provident Fund was estimated at ` 2,400. 

 (e) Chander took over investments for ` 15,800. 

 (f) Amit and Balan decided to adjust their capitals in proportion of their profit 

sharing ratio by opening current accounts. 

 Prepare Revaluation Account and Partners’ Capital Accounts on Chander’s retirement.  

 

³ÖÖÝÖ – ÜÖ 

PART – B 
 

(×¾Ö¢ÖßµÖ ×¾Ö¾Ö¸üÞÖÖë ÛúÖ ×¾Ö¿»ÖêÂÖÞÖ) 

(Financial Statements Analysis) 
 

18. ×®Ö´®Ö ´Öë ÃÖê ×ÛúÃÖÛúÖê ¸üÖêüÛú›Ìü ŸÖ£ÖÖ ¸üÖêÛú›Ìü ŸÖã»µÖ ´Öë ÃÖ×´´Ö×»ÖŸÖ ®ÖÆüà ×ÛúµÖÖ •ÖÖŸÖÖ Æîü ? 

 (Ûú) ²ÖïÛúÖë Ûêú ¯ÖÖÃÖ ®ÖÝÖ¤ü ¿ÖêÂÖ  

 (ÜÖ) 100 ×¤ü®ÖÖë Ûúß ¯Ö×¸ǖ ÖŒ¾ÖŸÖÖ Ûêú ²ÖïÛú •Ö´ÖÖ  

 (ÝÖ) “ÖîÛú ŸÖ£ÖÖ ›ÒüÖ°™ü ÆüÃŸÖê ŸÖ£ÖÖ  

 (‘Ö) ¸üÖêÛú›Ìü ÆüÃŸÖê   1 
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 Which of the following is not included in cash and cash equivalents ? 

 (a) Balances with banks 

 (b) Bank deposits with 100 days of maturity 

 (c) Cheques and drafts on hand and  

 (d) Cash on hand  

 

19. ¿ÖÖ¸ü¤üÖ ×»Ö×´Ö™êü›ü ÛúÖ ¸üÖêÛú›Ìü ¯ÖÏ¾ÖÖÆü ×¾Ö¾Ö¸üÞÖ ŸÖîµÖÖ¸ü Ûú¸üŸÖê ÃÖ´ÖµÖ ‘Ã£ÖÖµÖß ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖë ¯Ö¸ü »ÖÝÖÖµÖê ÝÖµÖê ´Öæ»µÖÈüÖÃÖ’ ÛúÖê 
¯Ö×¸ü“ÖÖ»Ö®Ö ÝÖ×ŸÖ×¾Ö×¬ÖµÖÖë Ûúß ÝÖÞÖ®ÖÖ Ûú¸ü®Öê Ûêú ×»Ö‹ ¿Öã̈ ü »ÖÖ³Ö ´Öë •ÖÖê›Ìü ×¤üµÖÖ ÝÖµÖÖ … ŒµÖÖ »ÖêÜÖÖ¯ÖÖ»Ö ‹êÃÖÖ Ûú¸ü®Öê ´Öë 
ÃÖÆüß £ÖÖ ? ÛúÖ¸üÞÖ ²ÖŸÖÖ‡‹ …  1 

 While preparing Cash Flow Statement of Sharda Ltd. ‘Depreciation provided on fixed 

assets’ was added to net profit to calculate cash flow from operating activities. Was the 

accountant correct in doing so ? Give reason.   

 

20. Ûú´¯Ö®Öß †×¬Ö×®ÖµÖ´Ö, 1956 Ûúß ÃÖæ“Öß VI ³ÖÖÝÖ I Ûêú †®ÖãÃÖÖ¸ü ×®Ö´®Ö ´Ö¤ëü ×Ûú®Ö-×Ûú®Ö ¿ÖßÂÖÔÛúÖë Ûêú †®ŸÖÝÖÔŸÖ ¤ü¿ÖÖÔ‡Ô 
•ÖÖµÖêÝÖß ? 

 (i) ¸üÖêÛú›üÍ ÆüÃŸÖê 

 (ii) ÜÖ®Ö®Ö †×¬ÖÛúÖ¸ü  

 (iii) †»¯ÖÛúÖ»Öß®Ö •Ö´ÖÖ  

 (iv) ŠúÞÖ¯Ö¡Ö ¿ÖÖê¬Ö®Ö ÃÖÓ“ÖµÖ  

 (v) †×ÝÖḮ Ö ¯ÖÏÖ¯ŸÖ †ÖµÖ  

 (vi) »ÖÖ³Ö-ÆüÖ×®Ö ×¾Ö¾Ö¸üÞÖ ÛúÖ ¿ÖêÂÖ  

 (vii) ÛúÖµÖÖÔ»ÖµÖ ÃÖÓµÖÓ¡Ö ŸÖ£ÖÖ  

 (viii) ÛúÖµÖÔ ¯ÖÏÝÖ×ŸÖ ¯Ö¸ü  4 

 Under which heads the following items will be placed in the Balance Sheet of a 

company as per Schedule VI Part I of the Companies Act, 1956 ? 

 (i) Cash in hand 

 (ii) Mining Rights 

 (iii) Short term deposits 

 (iv) Debenture Redemption Reserve 

 (v) Income received in advance  

 (vi) Balance of the Statement of Profit and Loss 

 (vii) Office Equipments and  

 (viii) Work-in-progress. 
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21. ®Ö¾Öß®Ö ×»Ö×´Ö™êü›ü ÃÖê ÃÖ´²Ö×®¬ÖŸÖ ×®Ö´®Ö×»Ö×ÜÖŸÖ ÃÖæ“Ö®ÖÖ ÃÖê (Ûú) ×®Ö¾Öê¿Ö ¯Ö¸ü ¯ÖÏŸµÖÖµÖ ŸÖ£ÖÖ (ÜÖ) Ûãú»Ö ÃÖ´¯Ö×¢Ö ŠúÞÖ 

†®Öã̄ ÖÖŸÖ Ûúß ÝÖÞÖ®ÖÖ Ûúß×•Ö‹ : 

 ÃÖæ“Ö®ÖÖ : Ã£ÖÖµÖß ÃÖ´¯Ö×¢ÖµÖÖÑ ` 75,00,000; “ÖÖ»Öæ ÃÖ´¯Ö×¢ÖµÖÖÑ ` 40,00,000; “ÖÖ»Öæ ¤êüµÖŸÖÖ‹Ñ ` 27,00,000; 

12% ŠúÞÖ¯Ö¡Ö ` 80,00,000 ŸÖ£ÖÖ ²µÖÖ•Ö, Ûú¸ü ‹¾ÖÓ »ÖÖ³ÖÖÓ¿Ö ÃÖê ¯Öæ¾ÖÔ ¿Öã̈ ü »ÖÖ³Ö ` 14,50,000 …  4 

 From the following information related to Naveen Ltd. calculate (a) Return on 

Investment and (b) Total Assets to Debt Ratio. 

 Information : Fixed Assets ` 75,00,000; Current Assets ` 40,00,000; Current 

Liabilities ` 27,00,000; 12% Debentures ` 80,00,000 and Net Profit before Interest, 

Tax and Dividend ` 14,50,000. 

 
22. ‹Ûú ×¾Ö–ÖÖ¯Ö®Ö Ûú´¯Ö®Öß µÖ¿Ö ×»Ö×´Ö™êü›ü ÛúÖ †Ö¤ü¿ÖÔ-¾ÖÖŒµÖ ‘ÝÖ×¸ü´ÖÖ ÃÖ×ÆüŸÖ ÃÖê¾ÖÖ’ Æîü … ‡ÃÖÛúÖ ¯ÖÏ²ÖÓ¬Ö®Ö ŸÖ£ÖÖ ÛúÖµÖÔ-²Ö»Ö 

´ÖêÆü®ÖŸÖß, ‡Ố ÖÖ®Ö¤üÖ¸ü ŸÖ£ÖÖ †×³Ö¯ÖÏê×¸üŸÖ Æîü … 31 ´ÖÖ“ÖÔ, 2014 ÛúÖê ÃÖ´ÖÖ¯ŸÖ Æãü‹ ¾ÖÂÖÔ ´Öë Ûú´¯Ö®Öß ÛúÖ ¿Öã̈ ü »ÖÖ³Ö ¤üÖê ÝÖã®ÖÖ ÆüÖê 

ÝÖµÖÖ … †¯Ö®Öê ×®ÖÂ¯ÖÖ¤ü®Ö ÃÖê ˆŸÃÖÖ×ÆüŸÖ Ûú´¯Ö®Öß ®Öê †¯Ö®Öê ÃÖ³Öß Ûú´ÖÔ“ÖÖ×¸üµÖÖë ÛúÖê ‹Ûú ´ÖÖÃÖ ÛúÖ †×ŸÖ×¸üŒŸÖ ¾ÖêŸÖ®Ö ¤êü®Öê ÛúÖ 

×®ÖÞÖÔµÖ ×ÛúµÖÖ … 31 ´ÖÖ“ÖÔ, 2013 ŸÖ£ÖÖ 2014 ÛúÖê ÃÖ´ÖÖ¯ŸÖ Æãü‹ ¾ÖÂÖÖí Ûêú ×»Ö‹ Ûú´¯Ö®Öß ÛúÖ ŸÖã»Ö®ÖÖŸ´ÖÛú »ÖÖ³Ö-ÆüÖ×®Ö 

×¾Ö¾Ö¸üÞÖ ×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê Æïü : 

µÖ¿Ö ×»Ö×´Ö™êü›ü  

ŸÖã»Ö®ÖÖŸ´ÖÛú »ÖÖ³Ö-ÆüÖ×®Ö ×¾Ö¾Ö¸üÞÖ 

×¾Ö¾Ö¸üÞÖ 
®ÖÖê™ü    

ÃÖÓ.  

2012-13   

`̀̀̀ 

2013-14     

`̀̀̀ 

×®Ö¸ü¯ÖêõÖ 

¯Ö×¸ü¾ÖŸÖÔ®Ö `̀̀̀  

% 

¯Ö×¸ü¾ÖŸÖÔ®Ö 

ÛúÖµÖÔÛú»ÖÖ¯ÖÖë ÃÖê †ÖµÖ   10,00,000 15,00,000 5,00,000 50 

‘Ö™üÖ Ûú´ÖÔ“ÖÖ¸üß ×ÆüŸÖ ¾µÖµÖ   6,00,000 7,00,000 1,00,000 16.67 

Ûú¸ü ¯Öæ¾ÖÔ »ÖÖ³Ö   4,00,000 8,00,000 4,00,000 100 

Ûú¸ü ¤ü¸ü 25%  1,00,000 2,00,000 1,00,000 100 

Ûú¸ü ¯Ö¿“ÖÖŸÖË »ÖÖ³Ö   3,00,000 6,00,000 3,00,000 100 

 (Ûú) 31 ´ÖÖ“ÖÔ, 2013 ŸÖ£ÖÖ 2014 Ûêú ×»Ö‹ ¿Öã̈ ü »ÖÖ³Ö †®Öã̄ ÖÖŸÖ Ûúß ÝÖÞÖ®ÖÖ Ûúß×•Ö‹ …  

 (ÜÖ) ×Ûú®Æüà ¤üÖê †®Öã̄ ÖÖŸÖÖë Ûúß ¯ÖÆü“ÖÖ®Ö Ûúß×•Ö‹ ×•Ö®Æëü µÖ¿Ö ×»Ö×´Ö™êü›ü ¯ÖÏ“ÖÖ×¸üŸÖ Ûú¸ü®ÖÖ “ÖÖÆüŸÖß Æîü … 4 
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 The motto of Yash Ltd., an advertising company is ‘Service With Dignity’. Its 
management and work force is hard-working, honest and motivated. The net profit of 
the company doubled during the year ended 31-3-2014. Encouraged by its 
performance company decided to give one month extra salary to all its employees. 
Following is the Comparative Statement of Profit and Loss of the company for the 
years ended 31

st
 March 2013 and 2014. 

Yash Ltd. 
Comparative Statements of Profit and Loss. 

Particulars 
Note     

No. 

2012-13   

`̀̀̀ 

2013-14     

`̀̀̀ 

Absolute 

Change    

`̀̀̀ 

% 

Change 

Revenue from operations  10,00,000 15,00,000 5,00,000 50 

Less Employees benefit expenses  6,00,000 7,00,000 1,00,000 16.67 

Profit before tax  4,00,000 8,00,000 4,00,000 100 

Tax Rate 25%  1,00,000 2,00,000 1,00,000 100 

Profit after tax  3,00,000 6,00,000 3,00,000 100 

 (a) Calculate Net Profit Ratio for the years ending 31
st
 March, 2013 and 2014. 

 (b) Identify any two values which Yash Ltd. is trying to propagate. 
 

23. 31-3-2014 ÛúÖê £Ö´ÖÔ»Ö ¯ÖÖò¾Ö¸ü ×»Ö×´Ö™êü›ü ÛúÖ ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ ×®Ö´®Ö ¯ÖÏÛúÖ¸ü ÃÖê Æîü : 
£Ö´ÖÔ»Ö ¯ÖÖ¾Ö¸ü ×»Ö×´Ö™êü›ü  

31-3-2014 ÛúÖê ×Ã£Ö×ŸÖ ×¾Ö¾Ö¸üÞÖ 
×¾Ö¾Ö¸üÞÖ ®ÖÖê™ü    

ÃÖÓ. 
2013-14 2012-13 

 `̀̀̀ `̀̀̀ 

I. ÃÖ´ÖŸÖÖ ŸÖ£ÖÖ ¤êüµÖŸÖÖ‹Ñ      

 (1) †Ó¿Ö¬ÖÖ¸üß ×®Ö×¬ÖµÖÖÑ    

  (Ûú) †Ó¿Ö ¯ÖæÑ•Öß   12,00,000 11,00,000 

  (ÜÖ) ÃÖÓ“ÖµÖ ‹¾ÖÓ †Ö×¬ÖŒµÖ  1 3,00,000 2,00,000 

 (2) †“Ö»Ö ¤êüµÖŸÖÖ‹Ñ     

  ¤üß‘ÖÔÛúÖ»Öß®Ö ŠúÞÖ  2,40,000 1,70,000 

 (3) “ÖÖ»Öæ ¤êüµÖŸÖÖ‹Ñ     

  (Ûú) ¾µÖÖ¯ÖÖ×¸üÛú ¤êüµÖŸÖÖ‹Ñ  1,79,000 2,04,000 

  (ÜÖ) »Ö‘ÖãÛúÖ»Öß®Ö ¯ÖÏÖ¾Ö¬ÖÖ®Ö  50,000 77,000 

Ûãú»Ö µÖÖêÝÖ   19,69,000 17,51,000 

II. ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ     

 (1) †“Ö»Ö ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ    

  (Ûú) Ã£ÖÖµÖß ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ    

   (i) ´ÖæŸÖÔ 2 10,70,000 8,50,000 

   (ii) †´ÖæŸÖÔ  3 40,000 1,12,000 

 (2) “ÖÖ»Öæ ¤êüµÖŸÖÖ‹Ñ     

  (Ûú) “ÖÖ»Öæ ×®Ö¾Öê¿Ö   2,40,000 1,50,000 

  (ÜÖ) Ã™üÖÛú (´ÖÖ»ÖÃÖæ“Öß)  1,29,000 1,21,000 

  (ÝÖ) ¾µÖÖ¯ÖÖ×¸üÛú ¯ÖÏÖ×¯ŸÖµÖÖÑ  1,70,000 1,43,000 

  (‘Ö) ¸üÖêÛú›Ìü ŸÖ£ÖÖ ¸üÖêÛú› ÌüŸÖã»µÖ   3,20,000 3,75,000 

                   Ûãú»Ö µÖÖêÝÖ   19,69,000 17,51,000 
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 ÜÖÖŸÖÖë Ûêú ®ÖÖê™ËüÃÖ : 

®ÖÖê™ü ÃÖÓ.  ×¾Ö¾Ö¸üÞÖ 2013-14 

`̀̀̀ 

2012-13 

 `̀̀̀ 

1. ÃÖÓ“ÖµÖ ‹¾ÖÓ †Ö×¬ÖŒµÖ    

 †Ö×¬ÖŒµÖ (»ÖÖ³Ö-ÆüÖ×®Ö ×¾Ö¾Ö¸üÞÖ ÛúÖ ¿ÖêÂÖ)  3,00,000 2,00,000 

2. ´ÖæŸÖÔ ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ    

 ´Ö¿Öß®Ö¸üß  12,70,000 10,00,000 

 ‘Ö™üÖ : ‹Ûú×¡ÖŸÖ ´Öæ»µÖÈüÖÃÖ  (2,00,000) (1,50,000) 

3. †´ÖæŸÖÔ ¯Ö×¸üÃÖ´¯Ö×¢ÖµÖÖÑ    

 ÜµÖÖ×ŸÖ  40,000 1,12,000 

 †×ŸÖ×¸üŒŸÖ ÃÖæ“Ö®ÖÖ : 

 ¾ÖÂÖÔ ´Öë ‹Ûú ´Ö¿Öß®Ö, ×•ÖÃÖÛúß »ÖÖÝÖŸÖ ` 24,000 £Öß ŸÖ£ÖÖ ×•ÖÃÖ ¯Ö¸ü ‹Ûú×¡ÖŸÖ ´Öæ»µÖÈüÖÃÖ ` 16,000 £ÖÖ, ÛúÖê           
` 6,000 ´Öë ²Öê“ÖÖ ÝÖµÖÖ … 

 ¸üÖêÛú›Ìü ¯ÖÏ¾ÖÖÆü ×¾Ö¾Ö¸üÞÖ ŸÖîµÖÖ¸ü Ûúß×•Ö‹ …  6 

 

 Following is the Balance Sheet of Thermal Power Ltd. as at 31-3-2014 : 

Thermal Power Ltd. 

Balance Sheet as at 31-3-2014 

Particulars 
Note     

No. 

2013-14 2012-13 

`̀̀̀ `̀̀̀ 

I. EQUITY AND LIABILITIES     

 (1) Shareholders Funds    

  (a) Share Capital  12,00,000 11,00,000 

  (b) Reserves and Surplus 1 3,00,000 2,00,000 

 (2) Non Current Liabilities     

  Long Term Borrowings  2,40,000 1,70,000 

 (3) Current Liabilities     

  (a) Trade Payables  1,79,000 2,04,000 

  (b) Short Term Provisions  50,000 77,000 

Total  19,69,000 17,51,000 

II. ASSETS    

 (1) Non-current Assets    

  (a) Fixed Assets    

   (i) Tangible 2 10,70,000 8,50,000 

   (ii) Intangible 3 40,000 1,12,000 

 (2) Current Assets    

  (a) Current Investments  2,40,000 1,50,000 

  (b) Inventories  1,29,000 1,21,000 

  (c) Trade Receivables  1,70,000 1,43,000 

  (d) Cash and Cash equivalents  3,20,000 3,75,000 

                   Total  19,69,000 17,51,000 
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 Notes to Accounts : 

S. No. Particulars 
2013-14 

`̀̀̀       

2012-13 

`̀̀̀ 

1. Reserves and Surplus     

 Surplus (balance in statement of 

Profit and Loss) 3,00,000 2,00,000 

2. Tangible Assets   

 Machinery 12,70,000 10,00,000 

 Less : Accumulated Depreciation  (2,00,000) (1,50,000) 

3. Intangible Assets   

 Goodwill 40,000 1,12,000 

 Additional information : 

 During the year a piece of machinery, costing ` 24,000 on which accumulated 

depreciation was ` 16,000, was sold for ` 6,000. 

 Prepare Cash Flow Statement. 

 

³ÖÖÝÖ – ÝÖ 
PART – C 

(†×³ÖÛú×»Ö¡Ö »ÖêÜÖÖÓÛú®Ö) 
(Computerized Accounting) 

 

18. ‘›üß.²Öß.‹´Ö.‹ÃÖ’. ÃÖê †×³Ö¯ÖÏÖµÖ Æîü :  

 (Ûú) »ÖÖ³ÖÖÓ¿Ö †Ö¬ÖÖ×¸üŸÖ ¯ÖÏ²Ö®¬Ö ¯ÖÏÞÖÖ»Öß …    

 (ÜÖ) ›üÖ™üÖ †Ö¬ÖÖ×¸üŸÖ ¯ÖÏ²Ö®¬Ö ÃÖÖò°™ü¾ÖêµÖ¸ü …  

 (ÝÖ) ›üÖ™üÖ †Ö¬ÖÖ×¸üŸÖ ¯ÖÏ²Ö®¬Ö ¯ÖÏÞÖÖ»Öß …  

 (‘Ö) †Ö¬ÖÖ¸ü³ÖæŸÖ ´ÖãÜµÖ ÃÖÖò°™ü¾ÖêµÖ¸ü ÛúÖ ×¾Ö³ÖÖ•Ö®Ö …   1 

 ‘DBMS’ stands for : 

 (a) Dividend Based Management System. 

 (b) Data Based Management Software.  

 (c) Data Base Management System. 

 (d) Divide the Basic Master Software.  
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19. ‹Ûú †®ÖãÛÎú×´ÖÛú ÛúÖê›ü ÃÖê ŸÖÖŸ¯ÖµÖÔ ˆÃÖ ÛúÖê›ü ÃÖê Æîü •ÖÖê ×ÛúÃÖß ¯ÖÏ̄ Ö¡Ö ¯Ö¸ü ˆÃÖ ÃÖ´ÖµÖ ¯ÖÏµÖÖêÝÖ ´Öë »ÖÖµÖÖ •ÖÖŸÖÖ Æîü •Ö²Ö :  

 (Ûú) ÃÖÓÜµÖÖ†Öë ‹¾ÖÓ †õÖ¸üÖë ÛúÖê ‹Ûú ×®Ö¸ü®ŸÖ¸ü ÛÎú´Ö ¯ÖÏ¤üÖ®Ö ×ÛúµÖÖ •ÖÖŸÖÖ Æîüü …  

 (ÜÖ) •Ö²Ö ¯ÖÏ̄ Ö¡ÖÖë ÛúÖê ÜÖÖŸÖÖ ¿ÖßÂÖÔÛú ¯ÖÏ¤üÖ®Ö ×Ûú‹ •ÖÖŸÖê Æïü …  

 (ÝÖ) •Ö²Ö ¯ÖÏ̄ Ö¡ÖÖë ÛúÖê ×¾Ö¿ÖêÂÖ ®ÖÖ´Ö ×¤ü‹ •ÖÖŸÖê Æïü …  

 (‘Ö) •Ö²Ö ¯ÖÏ̄ Ö¡ÖÖë ÛúÖê ˆ®ÖÛêú ®ÖÖ´ÖÖë Ûêú ÛÎú´Ö ´Öë ¾µÖ¾Ö×Ã£ÖŸÖ ×ÛúµÖÖ •ÖÖŸÖÖ Æîü …  1 

 A sequential code refers to a code applied to some document where : 

 (a) Numbers and letters are assigned in consecutive order. 

 (b) Where account heads are assigned to documents. 

 (c) Special names are given to documents.  

 (d) When documents are arranged in sequence of their names. 

  

 

20. ‘™êü»Ö¸Ëü›ü »ÖêÜÖÖÓÛú®Ö ÃÖÖò°™ü¾ÖêµÖ¸ü’ ÛúÖ ŒµÖÖ †£ÖÔ Æîü ? ÃÖ´Ö—ÖÖ‡‹ …  4 

 What is meant by ‘Tailored accounting software’ ? Explain. 

 

21. ‹Ûú ¾ÖêŸÖ®Ö ×²Ö»Ö «üÖ¸üÖ ¯ÖÏ¤üÖ®Ö Ûúß •ÖÖ®Öê ¾ÖÖ»Öß ÃÖæ“Ö®ÖÖ ÛúÖê ÃÖ´Ö—ÖÖ‡‹ …  4 

 Explain the information provided by a salary bill. 

 

22. »ÖêÜÖÖÓÛú®Ö ÃÖÖò°™ü¾ÖêµÖ¸ü ´Öë ÃÖã̧ üõÖÖ, ×®Ö×¿“ÖŸÖŸÖÖ ŸÖ£ÖÖ ÝÖÖê̄ Ö®ÖßµÖŸÖÖ •ÖîÃÖß ×¾Ö¿ÖêÂÖŸÖÖ†Öë ÛúÖ ÆüÖê®ÖÖ ŒµÖÖë †Ö¾Ö¿µÖÛú Æîü ? ‹êÃÖê 
¤üÖê ÃÖÖ¬Ö®ÖÖë ÛúÖê ÃÖ´Ö—ÖÖ‡‹ •ÖÖê ›üÖ™üÖ ÛúÖê ÃÖã̧ üõÖÖ ¯ÖÏ¤üÖ®Ö Ûú¸üŸÖê Æïü … 4 

 Why is it necessary to have safety, security and confidentiality features in accounting 

software ? Explain any two tools which provide data safety. 

 

23. ˆÃÖ ×¾Ö¢ÖßµÖ ÛúÖµÖÔ ÛúÖ ®ÖÖ´Ö ²ÖŸÖÖŸÖê Æãü‹ ˆÃÖê ÃÖ´Ö—ÖÖ‡‹ •ÖÖê ˆÃÖ ¯ÖÏ×ŸÖ³Öæ×ŸÖ ¯Ö¸ü †Ù•ÖŸÖ ²µÖÖ•Ö Ûúß ÝÖÞÖ®ÖÖ Ûú¸üŸÖÖ Æîü •ÖÖê 
†Ö¾Ö×¬ÖÛú ²µÖÖ•Ö ÛúÖ ³ÖãÝÖŸÖÖ®Ö Ûú¸üŸÖß Æîü …  6 

 Name and explain the function which calculates periodic payment of an annuity 

assuming equal payments and a constant rate of interest.  
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Q. Set  No. Marking Scheme 2014-15 
Accountancy (055) 

Delhi – 67/1/3 
Expected Answers / Value points 

Distribution 
of marks 67/

1/1 
67/
1/2 

67/
1/3 

3 4 1 Q. On the retirement......................Sharma equally. 
 
Ans. 
(b) to the debit of the capital accounts of Hari, Ram and Sharma equally. 
 

1 Mark 

4 3 2 Q. Kumar, Verma and Naresh...................of the firm. 
 
Ans.  

Journal 
Date Particulars LF Dr (R) Cr (R) 

2015 
Jan23 

 Profit & Loss Suspense A/c                        Dr. 
        To Verma’s Capital A/c 
(Verma’s share of profit upto 23rd June 
2015) 

 2,350  
2,350 

 
 

 
 
 
 
 

1 Mark 

5 2 3 Q. Give the....................................... forfeiture of share. 
 
Ans. 
Forfeiture of shares means cancellation of shares alloted and treating actually received 
amount as forfeited. 

[ or any other suitable meaning ] 

 
 

1 Mark 

6 1 4 Q. Joy Ltd. Issued.............................allotment was. 
 
Ans.  (C) R 3,80,250 

 
1 Mark 

1 6 5 Q. In the absence of................... partners. 
 
Ans. (b) Equally 

1 Mark 
 

2 5 6 Q. A,B,C and D.............................. of your answer. 
 
Ans. No, the accountant was not correct. 
Reason:  Since the new partner brought his share of goodwill in cash it cannot be shown in 
the books. 

 
 

(½ + ½) 
= 

1 Mark 

- - 7 Q. State the three............... can be utilised. 
Ans.  
Ans. The amount received as securities premium can be used other than ‘issue of bonus 
shares’ and ‘buy back of shares’ for the following purposes : 

 In writing off the preliminary expenses of the company. 

 For writing off the expenses, commission or discount allowed on issue of shares or 
debentures of the company. 

 For providing the premium payable on redemption of redeemable preference shares 
or debentures of the company. 

 
 
 
 

1 Mark 
Each 

 
= 

3 Marks 

8 8 8 Q. On 1-4-2013 Jay and Vijay......................year ended 31-3-2014. 
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Ans.    
In the books of Jay and Vijay 

Profit & Loss Appropriation A/c  
Dr.                                            For the year ended 31st March 2014                                          Cr. 

Particulars Amount (R) Particulars Amount (R) 

To Interest on Capital: 
Jay’s Capital A/c 7800x8/13=4800 
  
Vijay’sCapitalA/c7800x5/13=3000 
  

 
                 

7,800 
 

By Profit for the year 7,800 
 
 

 

 7,800  7,800 

 Working notes: 
Calculation of Interest on Capital: 
                                                                     (R) 

a) Interest on Jay’s Capital:          7,200 
b) Interest on Vijay’s Capital:       4,500   

                   Total:                        11,700       
 
The available profit is R 7,800 since the profit is less than interest, the available profit will be 
distributed in the ratio of interest i.e. 7,200:4,500 or 8:5. 
                                        
                                      

 
 
 
 
 
 
 
 
 
 
 
 
 
 

= 
3 marks 

 

- - 9 Q. ‘Sun Pharma Ltd. ....................................accounts. 
Ans.  

Balance Sheet of Sun Pharma Ltd. 
As at ....................(As per revised schedule VI) 

Particulars Note No. Amount R 
Current year 

Amount R 
Previous year 

EQUITY & LIABILITIES 
I  Shareholder’s funds : 

a) Share Capital 

 
 

1 

 
 

49,90,000 

 

 
Notes to Accounts : 

Particulars R 

(1) Share Capital 
Authorised Capital : 
1,00,000 equity shares of R 100 each 
Issued Capital 
50,000 equity shares of R 100 each 
Subscribed and fully paid  
49,500 shares of R 100 each                                        49,50,000 
Add: Share forfeiture Account                                          40,000 
 

 
 

1,00,00,000 
 

   50,00,000 
 
 

49,90,000 
 

 

 
 
 
 
 
 
 
 

1 
 
 
 
 
 

1 
 

½ 
 
 

½ 
=3 Marks 

 

10 10 10 Q. ‘Sangam Woollens Ltd. ............................to the society. 
Ans. 
 

a)  
Books of Sangam Woollens Ltd. 

Journal 

Date Particulars LF   Dr (R)   Cr (R) 

i.  Machinery A/c                                             Dr. 
              To Vendors A/c 
(For purchase of machinery)             
           

 5,00,000 5,00,000 

 
 
 
 
 
 
 
 

1 
 
 

½ 

½

  

1 

1 
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ii.  Vendors A/c                                                  Dr. 
     To Equity Share Capital A/c 
     To 9% Debentures A/c 
(For issue of equity shares and debentures 
at par )   

OR 
Vendors A/c                                                  Dr. 
     To Equity Share Capital A/c 
(For issue of equity shares ) 
 
Vendors A/c                                                  Dr. 
     To 9% Debentures A/c 
(For issue debentures at par )   
 
 

 5,00,000 
 
 
 
 
 

4,00,000 
 
 
 

1,00,000 

 
4,00,000 
1,00,000 

 
 
 
 

4,00,000 
 
 
 

1,00,000 

 
b) Values which the company wants to communicate to the society: (Any one) 

 Fulfilling/ Discharging of social responsibility. 

 Generation of employment opportunities in rural areas 
 

        (OR any other suitable value.) 
 

 
1 
 
 
 
 
 

1 
 

= 
3 Marks 

- - 11 Q. Sunny, Honey.........................his executors. 
Ans.  
Dr.                                                       Honey’s Capital A/c                                                         Cr. 

Particulars Amount (R) Particulars Amount (R) 

To Honey’s Executor 
A/c                   
  

81,350 
 

By Balance b/d 
 
By P/L Suspense A/c 
 
By Interest on Capital 
 
By General Reserve A/c 
 

30,000 
 

40,000 
 

1,350 
 

10,000 

 81,350  81,350 

Working notes: 
i. Calculation of Interest on Capital: 30,000 x  6/100 x 9/12  = R 1,350 

ii. Calculation of Honey’s Share of Profit :  
= 6,00,000 x  20/100 x 1/3  = R 40,000 

iii. Share in General Reserve= 30,000 x 1/3 = R 10,000                                               
 

 
 
 
 
 
 
 
 
 
 
 
 
 

= 
4 Marks 

½

   

½

   

1

  

1

  

1

  



35 

 

 

12 12 12 Q. Kumar, Gupta and Kavita................................Journal entry. 
Ans.  

i. Calculation of Goodwill of the firm 
Average Profit = R ( 4,00,000 + 4,80,000 + 7,33,000 – 33,000 + 2,20,000 ) / 5 
                                          = R 3,60,000 
Goodwill of the firm = 2 x 3,60,000 = R 7,20,000 

Journal 

Date Particulars LF   Dr (R)   Cr (R) 

 Gupta’s Capital A/c                                     Dr. 
              To Kumar’s Capital A/c 
              To Kavita’s Capital A/c 
(Adjustment of goodwill among partners 
on change in profit sharing ratio) 

 1,20,000  
60,000 
60,000 

 
Old ratio = 1:1:1 
New Ratio = 1:2:1 
 
Kumar’s Sacrifice = 1/3 – 1/4 = 1/12 
Gupta’s Gain = 1/3 – 2/4 = 2/12 
Kavita’s Sacrifice = 1/3-1/4 = 1/12 
 
Kumar’s sacrifice = 7,20,000 x 1/12 = R 60,000 
Gupta’s Gain = 7,20,000 x 2/12 = R 1,20,000 
Kavita’s Sacrifice = 7,20,000 x 1/12 = R 60,000 
 
 

 
 
 

2 
 
 
 
 
 
 

2 
 
 
 
 
 
 

= 
4 Marks 

 

15 14 13 Q. Bora, Singh and Ibrahim....................................amounts. 
Ans.  
 

Realisation A/c 

Particulars Amt  (R) Particulars Amt (R) 

To Stock                          
To Debtors 
To Plant and Machinery 
To Bank: 
    Sundry creditors        16,000 
    Bills Payable                 3,400 
    Mortgage Loan           15,000 
To Bank (Outstanding repairs) 
To Bank (Exp.)                      

10,000 
25,000 
40,000 

 
 
 

34,400 
400 
620 

By Provision for bad debts 
By Sundry Creditors 
By Bills Payable 
By Mortgage Loan 
By Bank – assets realised:  
           Stock –                     6,700 
           Debtors –              12,500            
           Plant &Machinery- 36,000 
By Bank – unrecorded assets 
realised  
By Loss Transferred to 
Partners’ Capital A/c: 
Bora                                    5,000 
Singh                                   3,000 
Ibrahim                              1,000 

5,000 
16,600 

3,400 
15,000 

 
 
 

55,200 
 

6,220 
 
 
 
 

9,000 

 1,10,420  1,10,420 

 
Partner’s Capital A/c 

Particulars Bora 

 (R) 

Singh 

(R)  

Ibrahim 

(R) 

Particulars Bora 

 (R) 

Singh 

(R)  

Ibrahim 

(R) 
To Revalution A/c 
 
 
To Bank A/c 

 

5,000 
 
 

19,500 

3,000 
 
 

16,500 

1,000 
 
 

9,500 
 

By Balance b/d 
 
By General  
Reserve A/c 
 

22,000 
 

2,500 

18,000 
 

1,500 

10,000 
 

500 

 24,500 19,500 10,500  24,500 19,500 10,500 

 
 
 
 
 
 
 
 
 
 
 

1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 
 
 
 

1

  

1

  

1
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Dr.                                                                  Bank A/c                                                                        Cr. 

Particulars Amount (R) Particulars Amount (R) 

To Balance b/d 
 
To realisation A/c 
(assets realized) 
 
To Realisation A/c 
(unrecorded assets) 

19,500 
 

55,200 
 

 
6,220 

By Realisation (liabilities) 
 
By Realisation (unrecorded 
liabilities) 
By Realisation A/c 
(Expenses) 
By Bora’s Capital A/c     19,500 
By Singh’s Capital A/c    16,500 
By Ibrahim’s Capital A/c 9,500 

34,400 
 

400 
 

620 
 
 
 

45,500 

 80,920  80,920 
 

 
 
 
 

3 
 
 
 
 
 
 

= 
6 Marks 

 

13 15 14 Q. On 1-4-2010 Sahil........................admission. 
Ans. 

1. Calculation of New Profit Sharing ratio of Sahil, Charu and Tanu 
 
Sahil’s old share = 4/7 
Sahil surrender = 1/5 x 1/2 = 1/10 in favour of Tanu 
Sahil’s new share = 4/7 – 1/10 = 33/70 
Charu’s old share = 3/7 
Charu surrenders = 1/5 x  1/2 = 1/10 in favour of Tanu 
Charu’s new share = 3/7 - 1/10 = 23/70 
 
 
Tanu’s share = 1/10 + 1/10 = 2/10 
 
New Profit Sharing ratio among Sahil, Charu and Tanu = 33/70: 23/70: 2/10 or 14/70 
                                                                                                 = 33:23:14  
 

2. Calculation of New Profit Sharing Ratio of Sahil, Charu, Tanu and Puneet  
Sahil’s old share = 33/70 
Sahil surrenders in favour of Puneet = 1/7 x 7/10 = 7/70 
So, Sahil’s new share = 33/70 – 7/70 = 26/70 
 
Charu’s old share = 23/70 
Charu surrenders in favour of Puneet = 1/7 x 3/10 = 3/70 
Charu’s new share = 23/70 – 3/70 = 20/70 
 
Tanu’s new share = 14/70  
Puneet’s new share = 1/7 or 10/70 
 
New Profit Sharing ratio among partners = 26/70:20/70:14/70:10/70 
                                                                           = 26:20;14:10 
                                                                           = 13:10:7:5 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 
 

= 
6 Marks 

 

14 13 15 Bharat Ltd. ..........................................9% Debentures A/c. 
Ans.  
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

1

  

1

  

1

  

1

  

1

  

1

  

½

   

½

   ½

   
½

   

1
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Dr.                                                                                                                                                       Cr. 
9% Debentures A/c 

Date Particulars LF Amount  
(R) 

Date Particulars LF Amount  
(R) 

2009 
Mar 31 

To Balance c/d  6,00,000 
 
 
 

6,00,000 

2008 
Apr 1 
 
 
 

By Debentures 
app & all A/c 
By Discount on 
issse of 
debentures A/c 

 
 

5,40,000 
 

60,000 
 
 

6,00,000 
2010 
Mar 31 

To Balance c/d   6,00,000 2009 
Apr 1 

By Balance b/d  6,00,000 

2011 
Mar 31 
 
 

To Debenture 
holders A/c 
To Balance c/d 

 1,00,000 
 

5,00,000 
6,00,000 

2010 
Apr 1 

By Balance b/d  6,00,000 
 
 

6,00,000 
2012 
Mar 31 
 

To Debenture 
Holder A/c 
To Balance c/d  

 1,00,000 
 

4,00,000 
5,00,000 

2011 
Apr 1 

By Balance b/d  5,00,000 
 
 

5,00,000 
2013 
Mar 31 
 
 

To Debenture 
Holder A/c 
To Balance c/d 

 2,00,000 
 

2,00,000 
4,00,000 

2012 
Apr 1 

By Balance b/d  4,00,000 
 
 

4,00,000 
2014 
Mar 31 

To Debenture 
holders A/c 

 2,00,000 
 
 

2,00,000 
 

2013 
Apr 1 

By Balance b/d  2,00,000 
 
 

2,00,000 

Note:  

 First two years account is necessary to be correctly prepared and four marks have 
to be awarded. However, if an examinee has not prepared last four years account, 
stating/ mentioning that amount of debentures to be redeemed is not given in the 
question then additional credit of two marks is to be given.  

 If an examinee has prepared the last four years account correctly mentioning any 
amount then also full credit of two marks is to be given. 

 
 
 
 
 
 

2 
 
 
 

2 
 
 
 
 
 
 
 
 

2 
 
 
 
 
 
 

= 
 

6 Marks 
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- - 16 Q. Wellness Ltd................................transactions. 
Ans.  

Books of Wellness Ltd. 

Journal 

Date Particulars LF Dr. Amt 

(R) 

Cr. Amt 

 (R ) 

i.  Bank A/c                                                                Dr. 

  To Equity Share Application & Allotment A/c  

(For application money received on 39,000 

shares) 

 1,56,000  

1,56,000 

ii.  Equity Share Application & Allotment A/c      Dr. 

Discount on issue of shares A/c                        Dr. 

  To Equity Share Capital A/c 

(For equity share allotment made) 

 1,56,000 

39,000 

 

 

1,95,000 

iii.  Equity Share first  call A/c                                Dr. 

   To Equity Share Capital A/c 

(For first call money due) 

 1,17,000  

1,17,000 

iv.  Bank A/c                                                             Dr. 

   To Equity share first call a/c 

(For first call money received except on 3000 

shares) 

OR 

Bank A/c                                                                Dr. 

Calls in arrears A/c                                              Dr. 

  To Equity Share First Call A/c 

(For first call money received except on 3000 

shares and the advance adjusted) 

 1,08,000 

 

 

 

 

1,08,000 

9,000 

 

 

1,08,000 

 

 

 

 

 

1,17,000 

 

v.  Equity Share second and final call A/c            Dr. 

   To Equity Share Capital A/c 

(Being second and final call money due on 

39000 shares) 

 78,000  

78,000 

vi.  Bank A/c                                                             Dr. 

   To Equity share second and final call a/c 

(For second and final call money received 

except on 9000 shares) 

OR 

Bank A/c                                                                Dr. 

Calls in arrears A/c                                              Dr. 

  To Equity share second and final call A/c 

(For second and final call money received 

except on 9000 shares) 

 60,000 

 

 

 

 

60,000 

18,000 

 

60,000 

 

 

 

 

 

78,000 

vii.  Equity Share Capital A/c                                     Dr. 

       To Share Forfeiture A/c  

       To Equity share first call A/c 

    To Equity Share second and final call A/c   

    To discount on issue of shares A/c                                                                          

(For 3000 shares forfeited) 

 

OR 

 30,000 

 

 

 

 

 

 

 

 

12,000 

9,000 

6,000 

3,000 

 

 

 

 
 
 
 
 
 
 
 

½ 
 
 
 
 

1 
 
 
 

½ 
 
 
 
 
 

1 
 
 
 
 
 
 
 
 

1 
 
 
 
 
 
 
 

1 
 
 
 
 
 
 
 
 
 

1 
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Equity Share Capital A/c                                     Dr. 

       To Share Forfeiture A/c  

       To Calls in arrears A/c 

       To discount on issue of shares A/c 

(For 3000 shares forfeited) 

 

30,000 

 

 

 

 

12,000 

15,000 

3,000 

viii.  Bank A/c                                                                Dr. 

Discount on issue of shares A/c                        Dr. 

Share forfeiture A/c                                            Dr. 

  To Equity Share Capital A/c 

(For shares reissued for R8 per share fully paid 

up) 

 24,000 

3,000 

3,000 

 

 

 

30,000 

ix.  Share forfeiture A/c                                            Dr. 

   To capital reserve A/c 

(For forfeiture balance transferred to capital 

reserve) 

 9,000  

9,000 

 

 
 
 
 
 
 
 
 

1 
 
 
 
 
 
 

1 
= 

8 Marks 

- - 16 
OR 

Q. Shubham Ltd.........................................Company. 
Ans.  

Books of Shubham Ltd. 

Journal 

Date Particulars LF Dr. Amt 

(R) 

Cr. Amt 

 (R ) 

i.  Bank A/c                                                                Dr. 

  To Equity Share Application and Allotment A/c  

(For application money received on 18,000 

shares) 

 1,08,000  

1,08,000 

ii.  Equity Share Application and Allotment A/c  Dr. 

  To Equity Share Capital A/c 

  To Calls in Advance A/c 

  To Securities premium/ Securities premium 

reserve A/c 

(For equity share allotment made) 

 1,08,000  

36,000 

36,000 

36,000 

iii.  Equity Share first call A/c                                   Dr. 

   To Equity Share Capital A/c 

(For first call money due on 12000 shares) 

 48,000  

48,000 

iv.  Bank A/c                                                                Dr. 

Calls in advance A/c                                            Dr. 

   To Equity share first call a/c 

(For first call money received except on 120 

shares) 

OR 

Bank A/c                                                                Dr. 

Calls in arrears A/c                                              Dr. 

Calls in advance A/c                                            Dr. 

  To Equity share first call A/c 

(For first call money received except on 120 

shares) 

 11,880 

36,000 

 

 

 

 

11,880 

120 

36,000 

 

 

47,880 

 

 

 

 

 

 

48,000 

 
 
 
 
 
 
 
 

½ 
 
 
 
 

1 ½ 
 
 
 
 
 

1 
 
 
 
 

1 
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v.  Equity share second and final call A/c             Dr. 

      To Equity share capital A/c 

( For second and final call money due on 12000 

shares) 

 36,000  

36,000 

vi.  Bank A/c                                                               Dr. 

   To Equity share second and final call A/c 

(For second and final call money received 

except on 120 shares) 

OR 

Bank A/c                                                                Dr. 

Calls in arrears A/c                                              Dr. 

   To Equity share second and final call A/c 

(For second and final call money received 

except on 120 shares) 

 

 35,640 

 

 

 

 

35,640 

360 

 

35,640 

 

 

 

 

 

36,000 

vii.  Equity Share Capital A/c                                     Dr. 

  To Share Forfeiture A/c  

    To Equity Share first Call A/c 

    To Equity share second and final call A/c 

(For 120 shares forfeited) 

OR 

Equity Share Capital A/c                                     Dr. 

  To Share Forfeiture A/c  

  To Calls in arrears A/c 

(For 120 shares forfeited) 

 

 1,200 

 

 

 

 

 

1,200 

 

720 

120 

360 

 

 

 

720 

480 

viii.  Bank A/c                                                                Dr. 

Share forfeiture A/c                                            Dr. 

  To Share Capital A/c 

 (For shares reissued for R4 per share fully paid 

up) 

 480 

720 

 

 

 

 

1,200 

 

 
 

½ 
 
 
 
 
 

1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 
 
 
 
 
 
 
 
 

½ 
= 

8 Marks 
 

17 17 17 Q. Charu and Harsha.......................... Capital Accounts. 
Ans. 

Revaluation A/c 
     Dr                                                                                                                                                      Cr 

Particulars Amt (R) Particulars  Amt (R) 

To  Profit transferred to      
       Partner’s Capital A/c 
                    Charu        1,200 

Harsha          800 
 

 
 
 

2,000 

By  Provision for Bad Debts 
A/c 
 

2,000 
 
 
 
 
 

 2,000  2,000 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 

2 Marks 
 
 
 
 
 
 
 
 
 
 
 
 
 

1

  

1
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Partner’s Capital A/c 

Particulars Charu 

(R) 

Harsha 

(R)  

Vaishali 

(R) 

Particulars Charu 

(R) 

Harsha 

(R)  

Vaishali 

(R) 

To Current 
A/cs 
 
To Balance c/d 
 

5,400 
 
 

36,000 
 

3,600 
 
 

24,000 

___ 
 
 

20,000 

By Balance b/d 
 
By General  Reserve 
A/c 
 
By Cash A/c 
 
By premium for 
goodwill A/c 
 
By Revaluation A/c 
 
By Workmen 
Compensation 
Fund  
 
By Investment 
fluctuation fund  

30,000 
 

2,400 
 
 

___ 
 
 

2,400 
 
 

1,200 
 
 

1,800 
 
 
 

3,600 

20,000 
 

1,600 
 
 

___ 
 
 

1,600 
 
 

800 
 
 

1,200 
 
 
 

2,400 
 

___ 
 

___ 
 
 

20,000 
 
 

___ 
 
 

___ 
 
 

___ 
 
 

___ 
 

 41,400 27,600 20,000  41,400 27,600 20,000 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

6 
Marks 

 
 
 

= 
8 Marks 

 
 

17 
OR 

17
OR 

17 
OR 

Q. Amit, Balan and Chander.......................... retirement. 
Ans.  

Revaluation A/c 
     Dr                                                                                                                                                      Cr 

Particulars Amt (R) Particulars  Amt (R) 

To Machinery A/c 
To Patents A/c 
To Profit transferred to      
       Partner’s Capital A/c 

                    Amit            300 
Balan           200 
Chander      100        

 

4,800 
 

1,000 
 
 
 
 

600 
 

By  Provident Fund A/c 
By Investments 
 

600 
5,800 

 
 
 
 
 
 

 6,400  6,400 
Partner’s Capital A/c 

Particulars Amit 

(R) 

Balan 

(R)  

Chander 

(R) 

Particulars Amit 

(R) 

Balan 

(R)  

Chander 

(R) 

To Chander’s 
Capital A/c 
 
To Investment 
A/c 
 
To Chander’s 
Loan A/c 
 
To Balan’s 
Current A/C 
 
To Balance c/d 
 

2,700 
 
 

___ 
 
 
 

___ 
 
 
 
 
 

 
    48,000 

1,800 
 
 

___ 
 
 
 

___ 
 
 
 

5,900 
 
 

32,000 

___ 
 
 

15,800 
 
 
 

10,300 
 
 
 

By Balance b/d 
 
By General  
Reserve A/c 
 
By Amit’s Capital 
A/c 
 
By Balan’s Capital 
A/c 
 
By Revaluation 
A/c 
 
By Amit’s Current 
A/c 
  

40,000 
 
 

4,500 
 
 

___ 
 
 

___ 
 
 
 

300 
 
 

5,900 

36,500 
 
 

3,000 
 
 

___ 
 
 

___ 
 
 
 

200 

20,000 
 
 

1,500 
 
 
 

2,700 
 
 

1,800 
 
 

100 

 50,700 39,700 26,100  50,700 39,700 26,100 
 

 
 
 
 
 
 
 
 
 
 

3 Marks 
 
 
 
 
 
 
 
 
 
 
 

5 Marks 
 
 
 
 
 
 
 
 
 

= 
8 Marks 

½

   

½

   

1

   

½

   

½

   

½

    

½

    
½

    

½

    

½

    ½

    

½

   

½

   

½

   

½

   

½

   
½

   

½

   

1

  

½

   

1

  
1

  

½

   

½
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½

  

½

  

1 

   PART B 

(Financial  Statements  Analysis) 

 
 

- - 18 Q. Which..........................................hand. 
Ans. 
 (b) Bank deposits with 100 days of maturity. 
 

 
 

1 Mark 
 
 

- - 19 Q. While preparing...............................reason. 
Ans.  
Yes, he is  correct. 
Reason: As it is a non cash item.  

 
 

½ 
½ 
= 

1 Mark 

- - 20 Q. Under which.................................. work in progress. 
 
Ans. 

S.No. Items Major Heads 

1 Cash in hand Current assets 

2 Mining rights Non current assets 

3 Short term deposits Current assets 

4 Debenture redemption reserve Shareholders’ funds 

5 Income received in advance Current liabilities 

6 Balance of the statement of Profit and 

Loss 

Shareholders’ funds 

7 Office Equipments  Non current assets 

8 Work in progress Current  assets 
 

 
 
 
 
 
 
 

½ x 8 
= 

4 Marks 

21 22 21 Q. From the..........................................Tax and Dividend. 
Ans.  

a) Return on Investment  
= Net Profit before Interest, tax and Dividend / Capital Employed x 100 
 
Net Profit before Interest, tax and Dividend = R 14,50,000 
 
Capital Employed = Fixed Assets+ Current Assets – Current Liabilities 
                                 = R 75,00,000 + R 40,00,000 – R 27,00,000 = R 88,00,000  
Return on Investment = R 14,50,000 / R 88,00,000 x 100  
                                         = 16.47%  
 
 

b) Total Assets to Debt Ratio = Total Assets / Long term debt  
Total Assets = Fixed Assets + Current Assets = 75,00,000 + 40,00,000 =R 1,15,00,000 
Long term Debt = 12% Debentures = R 80,00,000  
 Total Assets to Debt Ratio = 1,15,00,000 / 80,00,000 
                                                  = 1.44:1            

 
 
 
 
 
 

2 Marks 
 
 
 
 
 
 
 

2 Marks 
 

= 
4 Marks 

22 21 22 Q. The motto......................................... to propagate. 
Ans. 

a) Net Profit Ratio =  Net Profit after tax / Revenue from operations  x 100 
 
As on 31-03-2013 = 3,00,000 / 10,00,000 x 100 
                                 = 30% 
As on 31-03-2014 = 6,00,000 / 15,00,000 x 100 
                                 = 40% 
 
 

 
 
 
 
 

2 Marks 
 
 
 
 

½

  

1  

½

  

1 

½

  
½
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b) Values:                          (Any two) 

 Participation of Employees in excess profits. 

 Treating employees a part of the company. 

 Ethical practices of company 

 Hardwork and honesty of employees. 

 Serving the organisation with dignity. 
(Or any other suitable value) 

Note: For Hindi medium students only : 
If in place of values, an examinee has mentioned any profitability ratios, 
full credit needs to be given .      

 
 

2 Marks 
 
 
 

= 
4 Marks 

23 23 23 Q.  Prepare a Cash flow Statement ............... 31-3-2013 and 31-3-2012. 

Ans.  

Cash flow statement of Thermal Power Ltd. 

For the year ended 31st March 2014 as per AS-3 (Revised) 

Particulars Details (R) Amount (R) 

Cash Flows from Operating Activities: 

Net Profit before tax & extraordinary items 

 Add: Non cash and non-operating charges 

Goodwill written off 

Depreciation on machinery 

Loss on sale of machinery 

Operating  profit before working capital changes 

Less:  Increase in Current  Assets 

 Increase in trade receivables 

Increase in inventories 

Less:  Decrease in Current  Liabilities 

Decrease in trade payables 

Decrease in short term provisions     (I) 

 Cash  generated from Operating Activities 

Cash flows from Investing Activities : 

Purchase of  machinery 

Sale of machinery 

Cash used in investing activities 

Cash flows from Financing Activities: 

Issue of share capital 

Money raised from borrowings 

Cash from financing activities 

 

Net increase in cash & cash equivalents 

    Add: Opening balance of cash & cash equivalents: 

                  Current Investments      (II) 

                  Cash & cash equivalents 

 

     Closing Balance of cash & cash equivalents: 

                   Current Investments       (II) 

                  Cash & cash equivalents 

 

 

1,00,000 

 

72,000 

66,000 

2,000 

2,40,000 

 

(27,000) 

(8,000) 

 

(25,000) 

(27,000) 

1,53,000 

 

(2,94,000) 

         6,000 

(2,88,000) 

 

1,00,000 

     70,000 

1,70,000 

 

 

 

1,50,000 

3,75,000 

 

 

2,40,000 

3,20,000 

 

 

 

 

 

 

 

 

 

 

 

 

 

1,53,000 

 

 

 

(2,88,000) 

 

 

 

1,70,000 

 

 

35,000 

 

 

5,25,000 

 

 

           5,60,000 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 
 
 
 

1 
 
 
 
 

1 
 
 
 
 
 

1 
 
 
 
 
 
 
 
 
 
 

2 x 1 

= 2 
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Working Notes: 

Machinery A/c. 

Particulars R Particulars R 

To Balance b/d 
To Bank A/c (Bal. Figure) 
 

10,00,000 
2,94,000 

By Bank A/c 
By Accumulated Depreciation 

By Loss on sale of machinery 
By Balance c/d 

6,000 
16,000 

2,000 
12,70,000 

 12,94,000  12,94,000 

    Accumulated Depreciation A/c 

Particulars R Particulars R 

To Machinery A/c 
To balance c/d 

16,000 
2,00,000 

By Balance b/d 
By Depreciation a/c (Bal fig.) 

1,50,000 
66,000 

 2,16,000  2,16,000 

Notes:  
(I) If short term provision is not treated as current liabilities by an examinee: 

Decrease in short term provisions will not be shown. 
 
1. If short term provision is treated as provision for doubtful debts. 

 Operating profit before working capital changes will be R 2,13,000. 

 There is no change in the cash flow from the three activities and full credit is 
to be given for this treatment. 
 

2. If short term provision is treated as provision for tax: 

 Net profit before tax and extraordinary items will be R 1,50,000. 

 Operating profit before working capital changes will be R 2,90,000.  

 Cash generated from operations before tax will be R 2,30,000 

 Tax paid off R 77,000 will be deducted for calculating cash from operating 
activities.  

 There is no change in the cash  flow from the three activities and full credit is 
to be given for this treatment also. 
 

3. If short term provision is treated as proposed dividend: 

 Net profit before tax and extraordinary items will be R 1,50,000.  

 Cash from operating activities will be R 2,30,000 

 Cash used in investing activity will remain same i.e.  R (2,88,000) 

 Cash from financing activity will be R 93,000 
 

(II) If current investment is treated as current asset by an examinee: 
Increase in current investment  R 90,000 will be deducted from operating 
profit before working capital changes. Opening and closing balance of cash & 
cash equivalents will be R3,75,000 and R 3,20,000 respectively. 
1. If Short term provision is treated as current liability: 

 Operating profit before working capital changes will be R 2,40,000. 

 Cash from operating activities will be R 63,000. 

 Cash used in investing activity will remain same i.e. R (2,88,000) and cash 
from financing activity will also remain same i.e. R 1,70,000. 

 Net decrease in cash and cash equivalents will be R (55,000). 
 
2. When short term provision is treated as proposed dividend: 

 Net profit before tax and extraordinary items will be R 1,50,000.  

 Operating profit before working capital changes will be R 2,90,000 

 Cash from operating activities will be R 1,40,000 

 Cash used in investing activity will remain same i.e.  R (2,88,000) 

 Cash from financing activity will be R 93,000 

 Net decrease in cash and cash equivalents will be R (55,000). 

 
 
 
 
 

½ 
 
 
 
 
 
 

½ 
 

= 
6 Marks 
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3. When short term provision is treated as provision for tax: 

 Net profit before tax and extraordinary items will be R 1,50,000.  

 Operating profit before working capital changes will be R 2,90,000 

  Cash generated from operations R 1,40,000 

 Tax paid off R 77,000 will be deducted for calculating cash from operating 
activities.  

 Cash from operating activities will be R 63,000 

 Cash used in investing activity will remain same i.e.  R (2,88,000) 

 Cash from financing activity will be R 1,70,000 

 Net decrease in cash and cash equivalents will be R (55,000). 
 

4. If short term provision is treated as provision for doubtful debts: 

 Net profit before tax and extraordinary items will be R 1,00,000.  

 Operating profit before working capital changes will be R 2,13,000. 

 Cash from operating activities will be R 63,000 

 Cash used in investing activity will remain same i.e.  R (2,88,000) 

 Cash from financing activity will be R 1,70,000 

 Net decrease in cash and cash equivalents will be R (55,000). 

   PART C 

(Computerized Accounting) 

 

19 18 18 Q. DBMS stands for...........................software. 

Ans.  

      (c) Data Base Management System 

 
1 Mark 

18 19 19 Q. A sequential..................................names. 

Ans.  

(c) Numbers and letters are assigned in consecutive order. 

 
1 Mark 

22 21 20 Q. Name...............................interest. 

Ans.           (Any four) 

Tailored software 

 Suitable for large organizations which have multiuse’s and geographically 

scattered locations.  

 Require Specialties training to use. 

 They form an important part of MIS of the organization. 

 The secrecy and authenticity checks are robust. 

 Offer high flexibility in terms of no. of users.  

 
 
 
 
 

= 
4 Marks 

 
 
 

20 22 21 Q. Explain ......................................bill. 

Ans.  

A salary bill should 

 Payroll related data such as employee No, Name, Allendance, Basic pay, 

applicable Dearness and other allowance, deductions to be made. 

 Periodic payroll computations. These include calculation of various earnings 

and deduction heads, which are to be derived from basic values as per the 

formulae. 

 Preparation of salary statement employee salary slips. 

 Generation of advice to bank which contains salary to be transformed to 

individual bank account of employee. 

 
 
 
 

1 x 4 
= 

4 Marks 

21 20 22 Q. Why is it.......................................safety. 

Ans. 
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To have an edge over competitors and avail first mover advantage it is necessary o maintain 

secrecy and confidentiality. The tools which help to maintain secrecy are:  (Any two) 

1. Password security: Password is widely accepted security control to access the data. 

Only the authorized person can access the data. Any user who does not know the 

password cannot retrieve information from the system. It ensures data integrity. It 

uses a binary encoding format of storage and offers access to the data base. 

2. Data Audit: Audit feature of accounting software provides the user with 

administrator right in order to keep track of unauthorized access to the data base .It 

audit for the correctness of entries. Once entries are audited with adulterations, if 

any the software displays all entries along with the name of the auditor user and 

date and time of alteration. 

3. Data vault: Software provides additional security for the imputed data and this 

feature is referred as data vault. Data vault ensures that original information is 

presented and is not tempered. Data vault password cannot be broken. Some 

software uses data encryption method.     

 
 
 
 
 
 
 
 

2 x 2 
= 

4 Marks 
 
 

- - 23 Q. Name and explain...............................interest. 

Ans.  

The name of financial function is PMT 

 The PMT function calculates the periodic payment for an annuity, assuming equal payments 

and a constant rate of interest . The syntax of PMT function is as follow: 

= PMT (rate, nper, pv,[fv], [type]) where 

Rate    is the interet rate per period, 

Nper   is the number of periods, 

Pv is the present value or the amount the future payments are worth 

presently, 

Fv is the future value or cash balance that after the last payment is 

made (a future value of zero when we omit this optional argument) 

Type  is the value 0 for payments made at the end of the period or the 

value 1 for payments made at the beginning of the period. 

 

 
 
 
 
 
 
 
 
 

= 
6 Marks 
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